
Public Works Commission 

Electric Systems Division 
City of Fayetteville, North Carolina 

14.4/24.9 kV (25 kV)  

Overhead Structure Manual 

Revised June 2023 



I 7 

J 4.4/24.9 KV 
SINGLE PHASE 
STRUCTURES 

L _J 



1 6/2020 

0 12/3/07 

REVISED 

POLE TOP PIN ASSEMBLY ALTERNATE 

4• 

8" 

POSITION OF GUY 

60" 
PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 
15• 

12· 

6 

NEUTRAL 

FRONT VIEW SIDE VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1160065 INSULATOR, PIN-TYPE ANSI 55-6 
2 1100568 PIN POLE TOP 20" X 1" 
3 1325180 BOLT MACHINE 5 8" X 12" 

WRW3 PWCOST 4 1325760 WASHER SQUARE CURVED 3" 
5 1325733 WASHER DOUBLE COIL SPRING LOCK· 5 8" 

WJ PWCOST 
6 1230010 CLEVIS INSULATED SECONDARY DEADEND 

BY APPR 7 1160130 INSULATOR SPOOL 53-2 

QTY. 
1 
1 
3 
3 
3 

PWC REVISIONS 8 1065010 WIRE TIE 4 SOLID ALUMINUM 8' 
3 
2 PRIMARY, SINGLE PHASE II ELECIHICITIS 
0 1/31/05 D GRAPHICS OST SINGLE SUPPORT, 25KV SCALE DWG. 

REVISED BY APPR. 1;2·=1·-0· VA1EC 



1 6/2020 

0 12/ 3/ 07 

REVISED 

ALTERNATE 

4• 

8" 

60" 

9• 
l__ 

SIDE VIEW 
NOTES: 

ALTERNATE 
NEUTRAL 
POSITION 

POLE TOP PIN ASSEMBLY 

POSmON OF GUY 

PWC DESIGN LIMITS 
CONDUCTOR 

6 

POSITION OF GUY 
WHEN REQUIRED 

MAX ANGLE 
30-
2s· 

PLAN VIEW 

~ 

0 

NEUTRAL 

FRONT VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

ITEM PWC STOCK 
1 1160065 
2 1100572 
3 1325180 

WFMJ PWCOST 4 1325760 
5 1325733 

WJ PWCOST 
6 1230010 

BY APPR 7 1160130 

PWC MATERIAL DESCRIPTION 
INSULATOR, PIN-TYPE ANSI 55-6 
PIN, POLE TOP, OFFSET, 21" X 1" 
BOLT, MACHINE, 5 8" X 12" 
WASHER, SQUARE CURVED, 3" 
WASHER, DOUBLE COIL, SPRING LOCK, 5 8" 
CLEVIS, INSULATED SECONDARY DEADEND 
INSULATOR, SPOOL 53-2 

QTY. 
2 
2 
4 
3 
4 
1 

PWC REVISIONS 8 1065010 WIRE TIE 4 SOLID ALUMINUM 16' 
3 

2 

0 2/ 1/ 05 DD GRAPHICS 

REVISED BY 

OST 

APPR. 

PRIMARY, SINGLE PHASE 

DOUBLE SUPPORT, 25KV 
II ELECIHICITIS 

SCALE 
1/2"=1·-o· 

DWG. 

VA2.EC 



---
I -- 4 1 3 7 

9•~==== 
J, '} 

=== ,.. ~ J. -

' ~ l_ -k_, 2 

i'---POSITION OF GUY 

PLAN VIEi,/ 

8 • 

ALTERNAT 
NEUTRAL 
POSITION 

I 7 ---
NEUTRAL 

X X 

~ 
===== - SECTION X-X ,. ?- 6 

I - -k_, 

(~X:X8 
['..__ POSITION OF GUY 

'w'HEN REQUIRED 
PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

#2 ACSR 30"-60" 

#1/0 AAAC 25"-45" 
..__c 

FRONT VIEi,/ 

NOTES• 
1. GROUNDS ARE TD STOP AT THE NEUTRAL POSITION EXCEPT TD RISE TD A LIGHTNING ARRESTER 

DR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TD PROVIDE TV□ FEET OF AIR 
CLEARANCE. 

PM, ITEM P'w'C STOCK ti P'w'C MATERIAL DESCRIPTION QTY. 
1 1325760 'w'ASHER, SQUARE/CURVED, 3' 2 
2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 1 

2 08/08/23 D. ICEl.11JN - 3 1325080 BOLT, OVAL EYE, 5/8' X 12' w/NUT 1 

1 8/2020 - - 4 1050020 CLAMP, ANGLE SUSPENSION, 114-4/0 AL 1 

0 12/3/1¥1 WJ - 5 1230010 CLEVIS, INSULATED SECONDARY /DEADEND 1 

REVISEI 
6 1160130 INSULATOR, SPOOL 53-2 1 

BY APPR 7 1325733 'w'ASHER, DOUBLE COIL, SPRING LOCK, 5/8' 2 
P'w'C REVISIONS 8 1325180 INSULATOR, PIN TYPE 1 

3 

2 

1 
PRIMARY, SINGLE PHASE IIEIICIRICDIS 

0 1131/0S ~ _, DST SUSPENSI□N STRUCTURE, 25KV SCALE I D'w'G, 

REVISEIJ BY APPR. 1/2'=1'-0' VA3EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA3EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
OST

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
SUSPENSION STRUCTURE, 25KV

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
ALTERNATE

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
POSITION

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
9"

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
80"

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1050020

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, ANGLE SUSPENSION, #4-4/0 AL 

AutoCAD SHX Text
5

AutoCAD SHX Text
1230010

AutoCAD SHX Text
1

AutoCAD SHX Text
CLEVIS, INSULATED SECONDARY/DEADEND 

AutoCAD SHX Text
6

AutoCAD SHX Text
1160130

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, SPOOL 53-2 

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1325180

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, PIN TYPE

AutoCAD SHX Text
CONDUCTOR

AutoCAD SHX Text
PWC DESIGN LIMITS

AutoCAD SHX Text
MAX ANGLE

AutoCAD SHX Text
#2 ACSR

AutoCAD SHX Text
#1/0 AAAC

AutoCAD SHX Text
30°-60°

AutoCAD SHX Text
25°-45°

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



80" 

PLAN VIEW 

7 
X X 

9• 

PWC DESIGN LIMITS 
FRONT VIEW CONDUCTOR MAX ANGLE SECTION X-X 

GREATER THAN 60" 
GREATER THAN 45" 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1325760 WASHER, SQUARE CURVED, 3" 

3 oe~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
2 8/'JfJ'JO - - 3 1325080 BOLT, OVAL, EYE, 5 8" x 12" w NUT 

1 m/10/0I WJ - 4 1050149 CLAMP, AL. STRAIGHT, AUTOMATIC D.E. 4-2 0 AL 

0 12/3/W WJ - 5 1050149 CLAMP, AL. STRAIGHT, AUTOMATIC D.E. 4-4 0 AL 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5 8" 

REVISED BY APPR 7 1075245 CONNECTOR, PRL. GRVE., COMP., 1 7 AS REQ'D 
PWC REVISIONS 

3 

QlY. 
4 
2 
4 
2 
2 
4 
2 

2 PRIMARY, SINGLE PHASE IIBB:IRICDIS 
0 1/31~ C,00 -.cs osr CORNER STRUCTURE, 25KV SCALE DWG. 

REVISED BY APPR. 1/2"=1'-0" VA4EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA4EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
CORNER STRUCTURE, 25KV

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
1

AutoCAD SHX Text
80"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
2

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
2

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" x 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT, AUTOMATIC D.E. #4-2/0 AL 

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT, AUTOMATIC D.E. #4-4/0 AL 

AutoCAD SHX Text
6

AutoCAD SHX Text
1325733

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
7

AutoCAD SHX Text
1075245

AutoCAD SHX Text
2

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7 AS REQ'D

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
CONDUCTOR

AutoCAD SHX Text
PWC DESIGN LIMITS

AutoCAD SHX Text
MAX ANGLE

AutoCAD SHX Text
#2 ACSR

AutoCAD SHX Text
#1/0 AAAC

AutoCAD SHX Text
GREATER THAN 60°

AutoCAD SHX Text
GREATER THAN 45°

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



7 

I 
9• (2,X3X4X6~==~= ~ TAP .. 

9• 121 
2 4 l_ 

1' 
I'-.- POSmON OF GUY 

68" 

~ ===== ~ 6" NEUTRAL TAP 

I (1X3X6✓ 
====• 

0~ 

+ ,....._ 

r-,...___ POSmON OF GUY 
WHEN REQUIRED 

.__,,C 

NOTES: --
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQUARE/CURVED, 3" 2 

3 Ofl/05~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 1 
2 8/'JfJ'JO - - 3 1325080 BOLT, OVAL, EYE, 5/8" X 12" w/NUT 2 

1 m/10/0I WJ - 4 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 

0 12/3/07 WJ - 5 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 2 

REVISED BY APPR 7 1075245 CONNECTOR, PRL. GRVE., COMP., #1/7 1 
PWC REVISIONS 

3 

2 

1 
PRIMARY, SINGLE PHASE IIBB:IRICDIS 

0 •~/04 CMJO GRAPHICS osr TAP, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VA5-1 EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA5-1EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
8/25/04

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
TAP, 25KV

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
NEUTRAL TAP

AutoCAD SHX Text
TAP

AutoCAD SHX Text
5

AutoCAD SHX Text
6"

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
9"

AutoCAD SHX Text
68"

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
6

AutoCAD SHX Text
1325733

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
7

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7 

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
O

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



8 

I - - -
9• (~X!X~ 121 

- •O 
~ TAP 

i:- 121 ¼¼ ~ L ~ 
I"---- POSITION OF GUY 

68" 

~ ====• ~ 6" NEUTRAL TAP 

I~ 
====• 

lO~ 

+ ~~~ 

' "'--POSITION OF GUY 
.___,,c WHEN REQUIRED 

FRONT VIEW 

NOTES: 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQUARE/CURVED, 3" 2 

3 Ofl/05~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 1 
2 8/'JfJ'JO - - 3 1325080 BOLT, OVAL, EYE, 5/8" x 12" w/NUT 2 
1 m/10/0I WJ - 4 1105110 LINK, EXTENSION, 14" 1 

0 12/3/W WJ - 5 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 
6 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 

REVISED BY APPR 7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 2 
PWC REVISIONS 8 1075245 CONNECTOR, PRL. GRVE., COMP., #1/7 2 

3 
2 
1 

PRIMARY, SINGLE PHASE IIBB:IRICDIS 
0 1/31/05 CMJO GIW'IICS osr TAP, OFFSET, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VA5-2EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA5-2EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
OST

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
TAP, OFFSET, 25KV

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
TAP

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
6"

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
NEUTRAL TAP

AutoCAD SHX Text
6

AutoCAD SHX Text
8

AutoCAD SHX Text
8

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
68"

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" x 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1105110

AutoCAD SHX Text
1

AutoCAD SHX Text
LINK, EXTENSION, 14" 

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
6

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1075245

AutoCAD SHX Text
2

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7 

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



------~~~\,al 
\§' 

PLAN VIEW 

~ 

/~~ I 
~J.--T-W--_-/-·/-~-5---~--=---~"---~-~---4~~ 

,-;_·; Q•& •O •• 7=-+ 
~ 6 1"' ®--1 9• 

347 -k..._ I 
r--,......._ POSITION OF GUY 

NOTES: 

80" 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 

TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 
SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

+---.:..:N:::EUTRAL:..:.:..:=.T.::.~.::.....;
6 

~-M:-~oQ)I:===- - ~ 
9• ~ ,- - -

......_l _______ +-k..,_ 

r--,......._ POSTION OF GUY 
..__c WHEN REQUIRED 

FRONT VIEW 

pflb ITEM PWC STOCK II PWC MATERIAL DESCRIPTION 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 
2 1100568 PIN, POLE TOP, 20" X 1 • 
3 1325080 BOLT, OVAf., EYE, 5/8" x 12" w/NUT 
4 1325760 WASHER, SQUARE/CURVED, 3• 

3 Ofl/05~ D. KEL10N - 5 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
2 1/2020 - - 6 1325525 NUT, EYE, GAf.V, 5/8" 
1 ~10/09 WJ - 7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

0 1~/07 
8 1050149 CLAMP, Af.. STRAIGHT AUTOMATIC D.E. /14 2/0 Af. 

WJ - 9 1050149 CLAMP, Af.. STRAIGHT AUTOMATIC D.E. 114 2/0 Af. 
REVISED BY APPR 10 1075245 CONNECTOR, PRL. GRVE., COMP., 111/7 

PWC REVISIONS 11 1065010 WIRE, TIE, 114 SOLID Af.UMINUM 
3 

QTY. 
1 
1 
2 
2 
1 
2 
2 
1 
1 
2 
8' 

2 PRIMARY, SINGLE PHASE IIBB:IRICDIS 
1 
0 1/31/05 ~GIWIICS osr TAP OFF DEADEND, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=r-o· VA5-4EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA5-4EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
TAP OFF DEADEND, 25KV

AutoCAD SHX Text
6

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
1

AutoCAD SHX Text
TAP

AutoCAD SHX Text
TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE.

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 

AutoCAD SHX Text
NEUTRAL TAP

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
80"

AutoCAD SHX Text
9"

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
10

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
4"

AutoCAD SHX Text
8"

AutoCAD SHX Text
9"

AutoCAD SHX Text
POSTION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
9"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1160065

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100568

AutoCAD SHX Text
1

AutoCAD SHX Text
PIN, POLE TOP, 20" X 1" 

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" x 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
5

AutoCAD SHX Text
1160026

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
6

AutoCAD SHX Text
1325525

AutoCAD SHX Text
2

AutoCAD SHX Text
NUT, EYE, GALV, 5/8" 

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
9

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
10

AutoCAD SHX Text
1075245

AutoCAD SHX Text
2

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
1065010

AutoCAD SHX Text
8'

AutoCAD SHX Text
WIRE, TIE, #4 SOLID ALUMINUM

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



L!r c~x~x~ 
4 

i -9• 
<61 

J. == - •Q === .. 

~ I -k... 
r---.....- POSITION OF GUY 

PLAN VIEW 

so· 

---
1 3 6 

I 7 === 
i::I 

·-
X X 

5 

/:® SECTION X-X 

CiXiX-7 
== ~= a 

+ 
~ . 

"' I'-- POSITION OF GUY 
WHEN REQUIRED 

___,c 

FRONT VIEW 

NOTES: --
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQUARE/CURVED, 3" 2 

3 Ofl/05~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 1 
2 1/2020 - - 3 1325080 BOLT, OVAL, EYE. 5/8" X 12" w/NUT 2 

1 ~10/09 WJ - 4 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 

0 1~/07 
5 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 

WJ - 6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 2 
REVISED BY APPR 

PWC REVISIONS 

3 
2 
1 

PRIMARY, SINGLE PHASE IIBB:IRICDIS 
0 1/31/05 ~GIWIICS osr DEADEND STRUCTURE, 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VASEC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA5EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
DEADEND STRUCTURE, 25KV

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
80"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325080

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL, EYE. 5/8" X 12" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
6

AutoCAD SHX Text
1325733

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



80" 

1· .. O•ci@J ·~M ., ¼ 
71~ 

POSmON OF GUY_/ 

I 7 
X X 

8 

~ I~ 
...L. ____ ~--~ \_lj::;::~O~====• I/~ NEUTRAL -\: u- I 

NOTES: 

~ ~ 1· 
I'-- POSmON OF GUY 

WHEN REQUIRED 

FRONT VIEW 

~ D. !:J 

11 
SECTION X-X 

SIDE VIEW 

0-, 

ALTERNATE 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUYS STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

JPN::; ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QlY. 
1325760 WASHER, SQUARE/CURVED, 3" 6 

3 oe~m l).ICEl.11)N PIIC()Sf 

2 1/2020 - PIIC()Sf 

1 ~10/09 WJ PIIC()Sf 

0 12/3/07 WJ PIIC()Sf 

REVISED BY APPR 

PWC REVISIONS 

3 
2 
1 

0 1/31~ CMJO GRAPHICS osr 

REVISED BY APPR. 

2 1160026 
3 1325180 
4 1325530 
5 1050149 
6 1050149 
7 1325733 
8 1160065 
9 1100568 
10 1325180 
11 1075245 
12 1065010 

INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
BOLT, MACHINE, 5/8" X 12" 
NUT, EYE, GIJ...V, 3/4" 
CLAMP, AL STRAIGHT AUTOMATIC D.E. #4-2/0 AL 
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL 
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 
INSULATOR, PIN TYPE, ANSI 55 6 
PIN, POLE TOP, 20" X 1" 
BOLT, MACHINE, 5/8" X 12" 
CONNECTOR, PRL. GRVE., COMP., 111/7 
WIRE, TIE, 114 SOLID ALUMINUM 

PRIMARY, SINGLE PHASE 
DOUBLE DEADEND, 25KV 

2 
2 
2 
2 
2 
4 

2 

8' 

IIBB:IRICDIS 
SCALE 

1/2"=1'-0" 
DWG. 

VA6EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA6EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
X

AutoCAD SHX Text
PRIMARY, SINGLE PHASE

AutoCAD SHX Text
DOUBLE DEADEND, 25KV

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUYS STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
6

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
9"

AutoCAD SHX Text
8"

AutoCAD SHX Text
10

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
2

AutoCAD SHX Text
9"

AutoCAD SHX Text
6

AutoCAD SHX Text
11

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
ALTERNATE

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
11

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
11

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
X

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
80"

AutoCAD SHX Text
9"

AutoCAD SHX Text
4"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
6

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1160026

AutoCAD SHX Text
2

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
1325180

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12" 

AutoCAD SHX Text
4

AutoCAD SHX Text
1325530

AutoCAD SHX Text
2

AutoCAD SHX Text
NUT, EYE, GALV, 3/4" 

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
6

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1160065

AutoCAD SHX Text
1

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6 

AutoCAD SHX Text
9

AutoCAD SHX Text
1100568

AutoCAD SHX Text
1

AutoCAD SHX Text
PIN, POLE TOP, 20" X 1" 

AutoCAD SHX Text
10

AutoCAD SHX Text
1325180

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12" 

AutoCAD SHX Text
11

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
12

AutoCAD SHX Text
1065010

AutoCAD SHX Text
8'

AutoCAD SHX Text
WIRE, TIE, #4 SOLID ALUMINUM

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



~ ~ . . !! . I ! ! 

cix~x0-(I @< 
II 

>@ II 
II 
II 
II 

: !! : I 
7 11 

~ ~ ~ 
~ 

©----0 G 

9 

~ rm 

PLAN VIEW 

1·•~42• I .,.=J ··r ~X!X~) NEUTRAL 

6 -t- 0 @ 

°" 
Al 

9• 

¾ -~~ I 2 

~ 10 POSITION OF GUY__/ 
• 

~ 

0 
...__.,c 

= 
FRONT VIEW 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

~ ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1325760 WASHER, SQUARE/CURVED, 3" 10 
2 1100010 CROSSARM, 8 FOOT, WOOD 2 
3 1325005 BOLT, CARRIAGE, GALV, 3/8 X 4-1/2" W/NUT 4 
4 1325145 SCREW, LAG, GALV., 1 /2" X 4 • 2 
5 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 1 
6 1325025 BOLT, DOUBLE ARMING, 5/8" X 20" 3 

~ OO"'""' D.mn>N P'IC0SI' 7 1325535 NUT, SQUARE, 5/8" 2 
2 1/2020 - P'IC0SI' 8 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL 1 

1 C,Z,10/09 ., P'IC0SI' 9 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 AL 1 

0 12/>/'17 ., P'IC0SI' 
10 1100530 BRACE, CROSSARM, WOOD 38 X 18, PAIR 2 
11 1325740 WASHER, SPRING LOCK, 5/8" 10 

REVISED BY APPR 12 1325710 WASHER, FLAT ROUND, 3/8" 4 
PWC REVISIONS 13 1075245 CONNECTOR, PRL. GRVE., COMP., 11117 2 

3 
2 
1 

CROSSARM CONSTRUCTION, PRIMARY IIEIICIRICDIS 
0 1/31/05 

.__ osr SINGLE PHASE, DEADEND, 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VA7EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VA7EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
CROSSARM CONSTRUCTION, PRIMARY

AutoCAD SHX Text
SINGLE PHASE, DEADEND, 25KV

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
9"

AutoCAD SHX Text
6"

AutoCAD SHX Text
9"

AutoCAD SHX Text
42"

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
4

AutoCAD SHX Text
10

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
11

AutoCAD SHX Text
13

AutoCAD SHX Text
7

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8 FOOT, WOOD 

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRIAGE, GALV, 3/8 X 4-1/2" W/NUT 

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, GALV., 1/2" X 4" 

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20" 

AutoCAD SHX Text
7

AutoCAD SHX Text
1325535

AutoCAD SHX Text
2

AutoCAD SHX Text
NUT, SQUARE, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
9

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
10

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD 38 X 18, PAIR 

AutoCAD SHX Text
11

AutoCAD SHX Text
1325740

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SPRING LOCK, 5/8" 

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT ROUND, 3/8" 

AutoCAD SHX Text
13

AutoCAD SHX Text
1075245

AutoCAD SHX Text
2

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



PLAN VIEW 

► ··~-42• __ 

5 9• 

42•=n5• 
11 

~~~ 

NEUTRAL 

◄ 

0 

9• 

I 
2 

= 
FRONT VIEW 

NOTES: 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

JPftb ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1325760 WASHER, SQUARE CURVED, 3" 
2 1100010 CROSSARM, 8 FOOT, WOOD 
3 1325005 BOLT, CARRIAGE, GALV, 3 8 X 4-1 2" W NUT 
4 1325145 SCREW, LAG, GALV., 1 2" X 4" 
5 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
6 1325025 BOLT, DOUBLE ARMING, 5 8" X 20" 

D,ICEl.11)N PIIC()Sf 7 1325535 NUT, SQUARE, 5 8" - PIIC()Sf 8 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. 4-2 0 AL .. PIIC()Sf 9 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. 4-2 0 AL 

0 1~/07 .. PIIC()Sf 
10 1100530 BRACE, CROSSARM, WOOD 38 X 18, PAIR 
11 1325740 WASHER, SPRING LOCK, 5 8" 

REVISED BY APPR 12 1325710 WASHER, FLAT ROUND, 3 8" 
PWC REVISIONS 13 1075245 CONNECTOR, PRL. GRVE., COMP., 1 7 

3 

QTY. 
10 
2 
4 
2 
2 
3 
4 
2 
2 
2 
10 
4 
2 

2 CROSSARM CONSTRUCTION PRIMARY IIBB:IRICDIS 
SINGLE PHASE 1 1/10/115 -- osr 

0 1/31/115 -- osr DOUBLE DEADEND, 25KV SCALE DWG. 

REVISED BY APPR. 1/2"=1'-0" VABEC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VA8EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
1/31/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
11

AutoCAD SHX Text
4

AutoCAD SHX Text
10

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
11

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
11

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
9

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
CROSSARM CONSTRUCTION PRIMARY 

AutoCAD SHX Text
SINGLE PHASE

AutoCAD SHX Text
DOUBLE DEADEND, 25KV

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
3

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
13

AutoCAD SHX Text
1

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
1

AutoCAD SHX Text
11/10/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
42"

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE/CURVED, 3" 

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8 FOOT, WOOD 

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRIAGE, GALV, 3/8 X 4-1/2" W/NUT 

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, GALV., 1/2" X 4" 

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20" 

AutoCAD SHX Text
7

AutoCAD SHX Text
1325535

AutoCAD SHX Text
4

AutoCAD SHX Text
NUT, SQUARE, 5/8" 

AutoCAD SHX Text
8

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
9

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4-2/0 AL

AutoCAD SHX Text
10

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD 38 X 18, PAIR 

AutoCAD SHX Text
11

AutoCAD SHX Text
1325740

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SPRING LOCK, 5/8" 

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT ROUND, 3/8" 

AutoCAD SHX Text
13

AutoCAD SHX Text
1075245

AutoCAD SHX Text
2

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
O

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER



NOTES: 

cb 
VNEUTRAL 

~ 
" A A ;--®/ ,,--@ 
~) II :: II ( « ~ " " _..., 

~ ~ \ 11 

PLAN VIEW 

- 4•,-.I----44•---------t-I-----44• I4•y NEUTRAL 

~ ---.---------~~ ~v@ 
ly !- r 11 . . . 1 ,,-+---© 
.......... 11-:: ---+--+--_-_---o-------''--g-+-..__ ___ °" _____ /_'-\r;,..: ~ 

. r ¾~~~~ 
7 ~ 

FRONT VIEW 

POSITION OF GUY 
WHEN REQUIRED 

. 
5 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATOR 
PER NESC 220828. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, 55-6, 25 KV 1 
2 1325190 BOLT, MACHINE, 5/8" X 16" 1 
3 1325760 WASHER, SQUARE/CURVED, 3• 2 
4 1100562 PIN, CROSSARM, 1 • X 6" 2 
5 1100010 CROSSARM, 8 FOOT, WOOD 1 
6 1325005 BOLT, CARRIAGE, GALV, 3/8 X 4-1/2" W/NUT 2 

3 6/2020 WRW3 PWCOST 7 1325145 SCREW, LAG, GALV., 1/2" X 4• 1 
2 09/2 1/09 Jll PWCOST 8 1100530 BRACE, CROSSARM, WOOD 38 X 18, PAIR 1 

1 08/12/08 Jll PWCOST 9 1325740 WASHER, SPRING LOCK, 5/8" 1 

0 12/3/ 07 WJ PWCOST 
10 1325710 WASHER, FLAT ROUND, 3/8" 2 
11 1075245 CONNECTOR, PRL. GRVE., COMP., #117 2 

REVISED BY APPR 12 1065010 WIRE, TIE, #4 SOLID ALUMINUM 8' 
PWC REVISIONS 13 1160040 INC::111 ATni;, PIN -TYPE ANC::I 55, 4 1 • GROOVE. 15 KV 1 

3 

2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 PRIMARY, SINGLE PHASE 
0 1/.31/ 05 CADO GRAPHICS OST NEUTRAL ON SINGLE ARM, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VA9-1 EC 



VNEUTRAL 

~~ .~ ~ ~ ~ ~ 
g,J !! ii !! I " 2 :~ V II 

@< ~ II 
II 
II 

A II 

~ ~ 
i))'i :: !! :: ~ « 

~ \w ~ ~ 3 
2 7 9 v-@ 

PLAN VIEW 

-~. 44• 44• ~IJ NEUTRAL 

~ y 3 g• 

:a~ -t- 0 [QI' ~ _/@]:: 4 

9" ~-,' ~ 
. 

2 I 
5 10 

~~ 
6 ~ 

POSITION OF GUY 
WHEN REQUIRED 

1.......-<" 

-
FRONT VIEW 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL PosmoN EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATOR 
PER NESC 220828. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, 55-6, 25 KV 2 
2 1325760 WASHER, SQUARE/CURVED, 3" 10 
3 1100562 PIN, CROSSARM, 1" X 6" 4 
4 1100010 CROSSARM, 8 FOOT, WOOD 2 
5 1325005 BOLT, CARRIAGE, GALV, 3/8 X 4-1/2" W/NUT 4 
6 1325145 SCREW, LAG, GALV., 1/2" X 4" 2 

3 6/2020 WRW3 PWCOST 7 1325025 BOLT, DOUBLE ARMING, 5/8" X 20" 3 
2 09/21/09 Jll PWCOST 8 1100530 BRACE, CROSSARM, WOOD 38 X 18, PAIR 2 

1 08/12/08 Jll PWCOST 9 1325740 WASHER, SPRING LOCK, 5/8" 10 

0 12/3/07 WJ PWCOST 
10 1325710 WASHER, FLAT ROUND, 3/8" 4 
11 1075245 CONNECTOR, PRL. GRVE., COMP., #117 2 

REVISED BY APPR 12 1065010 WIRE, TIE, #4 SOLID ALUMINUM 16' 
PWC REVISIONS 13 1160040 INSULATOR PIN-TYPE ANSI 55-4 1" GROOVE 15 KV 2 

3 

2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 PRIMARY. SINGLE PHASE. NEUTRAL ON 
0 1/.31/05 CADO GRAPHICS OST DOUBLE LINE ARM, 25KV SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VA9EC 



I 7 

14.4/24.9 KV 
OPEN WYE 
(V-PHASE) 

STRUCTURES 

L _J 



-··c;-«· «·7•·-I 
15 --1 15 i 

$/ ~ 18" ~$ :::,. 

I\ 1 
~~ 

ii 121-- ii ~ 
~ 

-~ 
!! 0 

°' !! ~=== . 

~~~ 
. 

vf- 6 12 

POSmON OF G 8 
WHEN REQUIRED ~ 1i:~--

"'--0 
72" 

~ ... NEUTRAL 

~ 
F===c ... 

0 

LC LC 

FRONT VIEW SIDE VIEW 
PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

#2 ACSR 15· 

NOTES: 
#1/0 AAAC 12· 

---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 2 
2 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 2 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 2 
5 1100010 CROSSARM, 8" WOOD 1 
6 1325005 BOLT, CARRIAGE, 3/8" X 4 1/2", w/NUT 2 
7 1325145 SCREW, LAG, 1/2" X 4" 1 
8 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 

2 6/2020 WRW3 PWC OST 9 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 2 

1 '1 / 22/08 JEC PWC OST 10 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

0 
11 1160130 INSULATOR, SPOOL, 53 2 1 

12/3/07 Jll PWC OST 
12 1325710 WASHER, FLAT, ROUND, 3/8" 2 
13 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 

REVISED BY APPR 14 1325765 WASHER, SQUARE, FLAT, 5/8" 1 
PWC REVISIONS 15 1065010 WIRE, TIE, #4 SOLID ALUMINUM 16 

3 

2 CROSSARM CONSTRUCTION, TWO PHASE II ELECIHICITIS 
1 

0 12/8/05 CADO GfW>HICS OST SINGLE LINE ARM, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VB1EC 



10 

72" 

ALTERNATE 

RECOMMENDED PWC 
FRAMING STANDARD 

6 9 

NEUTRAL 

PWC DESIGN LIMITS 
= CONDUCTOR MAX ANGLE 

FRONT VIEW 15• SIDE VIEW 
12· 

NOTES: 

1 . GROUNDS ARE TO STOP AT THE NEUTRAL PosmoN EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE • 

.FMt ITEM PWC STOCK 
1 1160065 
2 1025255 
3 1325190 
4 1325760 
5 1325733 

2 6/2020 WRW3 PWC OST 
6 1230010 

1 8/22/06 WRW3 PWC OST 7 1160130 
Q 12/3/07 JLL PWC OST 9 1075245 
REVISED BY APPR 10 1065010 

PWC REVISIONS 

3 

PWC MATERIAL DESCRIPTION 
INSULATOR, PIN TYPE, ANSI 55-6, 25 KV 
BRACKET, FIBERGLASS, 21 

BOLT, MACHINE, 5 8" X 14", w NUT 
WASHER, SQUARE, CURVED, 3" 
WASHER, DOUBLE COIL, SPRING LOCK, 5 8" 
CLEVIS, INSULATED SECONDARY, DEADEND 
INSULATOR, SPOOL, 53-2 
CONNECTOR PRL. GRVE. COMP., 1 7 
WIRE TIE, 4 SOLID ALUMINUM 

QTY. 
2 
2 
3 

3 
1 

16 

2 TWO PHASE, II ELECIHICITIS 
Q 3/31/06 CADD GRAPHICS OST ALTERNATE LINE POST CONTRUCTION, 25KV SCALE DWG. 

REVISED BY APPR. 1;2·=1·-0· VB1 LPA-EC 



6" 42" 

I 

42" 6" 

,, 1/i) ~ I ;--0 
[@il 

~ 

II II II ( 

®-< t:J] ~ {=ff=~ 
¥ 

©-< A 

[@l II II II ( (ID) 

J.t 
~ 

\ J.1 
PLAN VIEW 

--- l y ~ ~ 18" 

'\ 
- ''@I 0 @-~ 0 1;21'' !! !! . 

~~ ~Us· 
PosmoN OF G A 
WHEN REQUIRED ~ 7 

~ 
72• NOTES: --

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 
TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 
SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

POSmON OF GUY\ 
W/ ROD WHEN 8 
REQUIRED 

9 
" PWC DESIGN LIMITS 

~ CONDUCTOR MAX ANGLE 

#2 ACSR 30" ..__.c 
#1/0 AAA.C 25· 

FRONT VIEW 

~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 4 
2 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 
3 1325005 BOLT, CARRIAGE, 3/8" X 4 1/2", w/NUT 4 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 4 
5 1100010 CROSSARM, 8" WOOD 2 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 11 
7 1100530 BRACE, CROSSARM, WOOD, 3/8" X 18" 2 
8 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
9 1160130 INSULATOR, SPOOL, 53-2 1 

10 1325710 WASHER, FLAT, ROUND, 3/8" 4 

1 
11 1325760 WASHER, SQUARE, CURVED, 3" 1 

6/2020 WT<W3 PWC OST 
12 1325145 SCREW, LAG, 1 /2" X 4" 2 

0 12/3/07 JLL PWC OST 13 1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
REVISED BY APPR 14 1325765 WASHER SQUARE FLAT 5/8" 10 

PWC REVISIONS 15 1065010 WIRE TIE 114 SOLID ALUMINUM 32 
3 

2 CROSSARM CONSTRUCTION, TWO PHASE II ELECIHICITIS 
1 

0 12/8/05 CADO GRAPHICS OST DOUBLE ARM, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VB2EC 



80" 

I 4,,,=--,=-~lltfflm#IWll:!il----
9• _1_, 

""---- POSITION OF GUY 
WHEN REQUIRED 

PLAN VIEW 

SECTION X-X 

t 7 
~--x-~=== ~ -

POSITION OF GUY J 
WHEN REQUIRED _ _ _ 

( 1X6X7 --- ~ 

NOTES: 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

#2 ACSR 30· 

#1/0 AAAC 25· 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTOR 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK # PWC MATERIAL DESCRIPTION 
1 1325760 WASHER, SQAURE, CURVED, 3• 
2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 

2 01/118/2.1 O.ICD.lON - 3 1325085 BOLT, OVAL EYE, 5/8" X 14", w/NUT 

1 1/Wll - PIIC osr 4 1050020 ANGLE ASSEMBLY, PRIMARY #4 4/0 AL 

0 12/3/07 
5 1050020 ANGLE ASSEMBLY, NEUTRAL #4 4/0 AL .u. PIIC osr 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 

REVISED BY APPR 7 1325080 BOLT, OVAL EYE, 5/8" X 12", w/NUT 
PWC REVISIONS 

3 

4 

QlY. 
3 
2 
2 
2 
1 
3 
1 

2 VERTICAL CONSTRUCTION, IIBB:IRICDIS 
TWO PHASE 1 

0 12/1/06 -- osr SUSPENSION STRUCTURE, 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VB3EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB3EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
VERTICAL CONSTRUCTION,

AutoCAD SHX Text
TWO PHASE

AutoCAD SHX Text
SUSPENSION STRUCTURE, 25KV

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
12/8/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTOR

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
OST

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
9"

AutoCAD SHX Text
7

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
48"

AutoCAD SHX Text
80"

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
3

AutoCAD SHX Text
WASHER, SQAURE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1325085

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14", w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
ANGLE ASSEMBLY, PRIMARY #4 - 4/0 AL

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
ANGLE ASSEMBLY, NEUTRAL #4 - 4/0 AL

AutoCAD SHX Text
6

AutoCAD SHX Text
1325733

AutoCAD SHX Text
3

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
1

AutoCAD SHX Text
1050020

AutoCAD SHX Text
1050020

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
CONDUCTOR

AutoCAD SHX Text
PWC DESIGN LIMITS

AutoCAD SHX Text
MAX ANGLE

AutoCAD SHX Text
#2 ACSR

AutoCAD SHX Text
#1/0 AAAC

AutoCAD SHX Text
30°

AutoCAD SHX Text
25°

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



I 
9• 

48" 

3• 

9• 

3• 

,x 
I t 

3• 

9• 

3• 

NOTES: 

FRONT VIEW 

POSITION OF GUYS 
WHEN REQUIRED 

PLAN VIEW 

SECTION X-X 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1325760 WASHER, SQAURE, CURVED, 3• 

3 oe~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER - PWC osr 3 1325085 BOLT, OVAL EYE, 5 8" X 14", w NUT 

1 02/10 WJ PWC osr 4 1075245 CONNECTOR, PRL. GRVE., COMP., 1 7 

0 12/3/07 
5 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. 4 - 2 0 

J.L PWC osr 
6 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. 4 - 2 0 

REVISED BY APPR 7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5 8" 
PWC REVISIONS 8 1325080 BOLT, OVAL EYE, 5 8" X 12", w NUT 

3 

QlY. 
6 
4 
4 
1 
4 
2 
6 
2 

2 VERTICAL CONSTRUCTION. TWO PHASE IIBB:IRICDIS CORNER STRUCTURE. 
0 12/1~ -- osr DOUBLE DEADEND. 25KV SCALE DWG. 

REVISED BY APPR. 1/2"=1'-0" VB4EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB4EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
VERTICAL CONSTRUCTION, TWO PHASE

AutoCAD SHX Text
CORNER STRUCTURE,

AutoCAD SHX Text
DOUBLE DEADEND, 25KV

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
12/8/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OST 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
80"

AutoCAD SHX Text
X

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
6

AutoCAD SHX Text
X

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
48"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
7

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
CLEARANCE. 

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
6

AutoCAD SHX Text
WASHER, SQAURE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
1325085

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
6

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14", w/NUT

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
8

AutoCAD SHX Text
1325080

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/10/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



C~X}X~ 
<61 

=== 

4 

PLAN VIEW 

-I 
(1XiX~ 9• --=== ,.a 

I --
9" lYP. 
l_ 

POSITION OF GI.J'( 7 
WHEN REQUIRED 

48" 

c:::, 
-- -

~ ;:© CiX~XJ 5 

4 === ,.a --
SECTION x-x 

l POSITION OF GI.J'( ~ 
WHEN REQUIRED 

80" 
..__,c 
~ 

t 7 
X X 

~ NEUTRAL 
4 === (0 

'L@ 
..__,c 

PLAN VIEW 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE lWO FEET OF AIR 
CLEARANCE. 

pMb ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQAURE, CURVED, 3• 3 

3 Ofl/05~ D. KEL10N - 2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 2 
2 8/'61211 - PWC osr 3 1325085 BOLT, OVAL EYE, 5/8" X 14", w/NUT 2 

1 02/11/0II WJ PWC osr 4 1050149 CLAMP AL STRAIGHT AUTOMATIC D.E. #4 - 2/0 2 

0 12/3/<T1 
5 1050149 CLAMP, AL STRAIGHT AUTOMATIC D.E. #4 2/0 1 

JU. PWC osr 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 3 

REVISED BY APPR 7 1325080 BOLT, OVAL EYE, 5/8" X 12", w/NUT 1 
PWC REVISIONS 

3 

2 VERTICAL CONSTRUCTION, TWO PHASE IIBB:IRICDIS 
1 
0 12/14/05 -- osr DEADEND, 25KV SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VB5EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB5EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
VERTICAL CONSTRUCTION, TWO PHASE

AutoCAD SHX Text
DEADEND, 25KV 

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
12/14/05

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
OST

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
X

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
X

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
5

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
9"

AutoCAD SHX Text
48"

AutoCAD SHX Text
9" TYP.

AutoCAD SHX Text
80"

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
3

AutoCAD SHX Text
WASHER, SQAURE, CURVED, 3"

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1325085

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1050149

AutoCAD SHX Text
1

AutoCAD SHX Text
1325733

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14", w/NUT

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/11/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



4•-
r44• 

I 

44•7 
-4" 

I 

11· 
,---, 

-~- ~ .-----0 ~ e 
121 _____[__ 0 ~ "'= 

I ~ .I /Y . 9•_J 

~ --
48" POSmON OF GUY 

I 
~ 

WHEN REQUIRED 

~ r 44• ¥4" 72" 
..r_~ ~ 

~ '-- I II 0 1!!1-~ 0,. II I 

~ v.~· 
0-- -- PWmoN OF = f l ;,:_ ,-- t_ 

9"- ~~ REOOIRffi ~ : 

"™ 0 ,, u~ 
10 

FRONT VIEW SIDE VIEW 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

#2 ACSR 15· 

11/0 AAAC 12· 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 2 
2 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 2 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 2 
5 1100010 CROSSARM, 8" WOOD 1 
6 1325005 BOLT, CARRIAGE, 3/8" X 4 1/2", w/NUT 2 
7 1325145 SCREW, LAG, 1/2" X 4" 1 
8 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 
9 1325740 WASHER, LOCK, 5/8" 2 

10 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
11 1160130 INSULATOR, SPOOL, 53-2 1 

1 6/2020 WRWJ PWC OST 
12 1325710 WASHER, FLAT, ROUND, 3/8" 2 

0 12/3/07 JLL PWC OST 
13 1325180 BOLT MACHINE 5/8" X 12" w/NUT 1 

REVISED BY APPR 14 1325765 WASHER SQUARE FLAT 5/8" 1 
PWC REVISIONS 15 1065010 WIRE TIE 114 SOLID ALUMINUM 16 

3 
2 CROSSARM CONSTRUCTION, TWO PHASE II ELECIHICITIS 
1 
0 12/14/05 CADO GRAPHICS OST SINGLE LINE ARM, 25KV 

SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-6" VB6EC 



I 1»1 

9• -

:a:lftt, 

3 01/118/2.1 O.ICD.11JN 

2 8/20"lll -1 02/11/0S WJ 

0 12/3/W JlL 

REVISED BY 
PWC REVISIONS 

3 

2 

1 

0 12/14/08 --REVISED BY 

---++-+;-----' 

: : 

©--

PLAN VIEW 

·-

. --· ~ ~= 10 

FRONT VIEW 

ITEM PWC STOCK II 
1 1325760 
2 1100010 
3 1325005 
4 1325145 
5 1160026 
6 1325025 
7 1325080 

PIC()Sf 8 1325530 

PWC osr 9 1050149 

PWC osr 10 1050149 
11 1100530 

PWC osr 
12 1325710 

APPR 13 1325733 
14 1325765 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL 
POSITION EXCEPT TO RISE TO A LIGHTNING 
ARRESTER OR TRANSFORMER. 

I ID 

2. ALL GUYS MUST CONTAIN A GUY STRAIN 
INSULATOR SUFFICIENT TO PROVIDE TWO 
FEET OF AIR CLEARANCE. 

3. ADD PIN INSULATOR SUPPORT FOR JUMPER 
CONDUCTORS AS NEEDED. 

-

~: I 

i ,. .. 

) -- -9" \ 
IA 0 Bil-- o,. ---is, I 

~ A--
POSmON OF GUY~ 1/, 
WHEN REQUIRED ~ 11 

"---0 

- NEUTRAL . 
NEUTRAL 

~ 

-.,C 

SIDE VIEW 

PWC MATERIAL DESCRIPTION QTY. 
WASHER, SQUARE, CURVED, 3" 1 
CROSSARM, 8" WOOD 2 
BOLT, CARRAGE, 3/8" X 4-1 /2" w/NUT 4 
SCREW, LAG, 1 /2" X 4" 2 
INSULATOR, 35 KV DEAD END, SILICONE POLYMER 2 
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
BOLT, OVAL, EYE, 5/8" X 12" 1 
NUT, EYE, GALV, 5/8" 2 
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0 2 
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 2/0 1 
BRACE, CROSSARM, WOOD, 38" X 18" 2 
WASHER, FLAT, ROUND, 3/8" 4 
WASHER DOUBLE COIL SPRING LOCK 5/8" 11 
WASHER. SQUARE FLAT 5/8" 10 

CROSSARM CONSTRUCTION, lWO PHASE IIBB:IRICDIS 
osr SINGLE LINE ARM, 25KV SCALE I DWG. 

APPR. 1;2·=r-s· V87-2EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB7-2EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-6"

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN

AutoCAD SHX Text
POSITION EXCEPT TO RISE TO A LIGHTNING

AutoCAD SHX Text
CROSSARM CONSTRUCTION, TWO PHASE

AutoCAD SHX Text
SINGLE LINE ARM, 25KV

AutoCAD SHX Text
INSULATOR SUFFICIENT TO PROVIDE TWO

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
12/14/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
2

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
3

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
4"

AutoCAD SHX Text
44"

AutoCAD SHX Text
44"

AutoCAD SHX Text
4"

AutoCAD SHX Text
24"

AutoCAD SHX Text
72"

AutoCAD SHX Text
9"

AutoCAD SHX Text
11

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
10

AutoCAD SHX Text
9"

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
18"

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
FEET OF AIR CLEARANCE.

AutoCAD SHX Text
3. ADD PIN INSULATOR SUPPORT FOR JUMPER

AutoCAD SHX Text
CONDUCTORS AS NEEDED.

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
1

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12"

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
2

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
1050149

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/11/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



-
~6X~X~) 

-
I ii I II I ii I 

@< 
II 

>@ r>@ ~ 
II 
II 
II 
II 

I II ! II ! II I 

©---i ~ ~t -
~ 

© ©-
~ ~ I 

I 
I 

PLAN VIEW I 

1··1.2· I .,-7·r r-@ 
I >-NEUTRAL n SECTION X-X 

I ~ I 
0 1£1 

°" ~I I 
9• 

'¾ ~ '-0 I 2 

i ~~ 
4 ~ \._ POSITION OF GUY 

60" 
~ 

p----

r 7 
X X 

~ 
L-C ~ 

FRONT VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

:a:lftt, ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1325760 WASHER, SQUARE, CURVED, 3" 1 
2 1100010 CROSSARM, 6" WOOD 2 
3 1325005 BOLT, CARRAGE, 3/6" X 4-1 /2" w/NUT 4 
4 1325145 SCREW, LAG, 1 /2" X 4" 2 
5 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 2 
6 1325025 BOLT, DOUBLE ARMING, 5/6" X 20", w/NUT 3 
7 1325060 BOLT, OVAL EYE, 5/6" X 12", w/NUT 1 

3 08/05/23 0. ICEL10N - 6 1325530 NUT, EYE, GALV, 5/6" 2 
2 8/2{J20 - PWC osr 9 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0 2 

1 02/11/01 WJ PWC osr 10 1050149 CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0 1 

0 12/3/U7 
11 1100530 BRACE, CROSSARM, WOOD, 36" X 16" 2 

,ll PWC osr 
12 1325710 WASHER, FLAT, ROUND, 3/6" 4 

REVISED BY APPR 13 1325733 WASHER DOUBLE COIL SPRING LOCK 5/6" 11 
PWC REVISIONS 14 1325765 WASHER, SQUARE, FLAT, 5/6" 10 

3 

2 CROSSARM CONSTRUCTION, lWO PHASE IIBB:IRICDIS 
1 

0 12/1/05 -- osr DEADEND, 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VB7EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB7EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
12/8/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
CROSSARM CONSTRUCTION, TWO PHASE

AutoCAD SHX Text
DEADEND, 25KV

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
4

AutoCAD SHX Text
11

AutoCAD SHX Text
9

AutoCAD SHX Text
5

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
8

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
13

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
3

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
80"

AutoCAD SHX Text
42"

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
1

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
2

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
1050149

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/11/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



I ----
~ 

13• rv ~~ 3 

s·----..._ - - 121 ~=== I ---~ ~ 
-- ~ 0~ ~=== I 

9• HiXiX~) / l_ 
1\ - NOTE -

,-posmoN OF GUY PWC CLEARANCE STANDARDS 
WHEN REQUIRED REQUIRE INSTALLATION 

OF 14" EXTENSION LINK 
(NOT SHOWN) 

so· 

~ rx~x~ 
~ === --

~ ~ 

FRONT VIEW SIDE VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PN:: ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 2 
2 1100023 CROSSARM 60 INCH STEEL 1 

3 08/m~ D, ICEL10N - 3 1050149 CLAMP AL STRAIGHT AUTOMATIC D.E. 114 - 2/0 2 
2 9/2020 - PWC osr 4 1050149 CLAMP AL STRAIGHT AUTOMATIC D.E. 114 - 2/0 1 

1 02/11/0C WJ PWC osr 5 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 2 

0 12/3/07 
6 1325080 BOLT, OVAL EYE, 5/8" X 12", w/NUT 3 

,ll PWC osr 
7 1325760 WASHER SQUARE CURVED 3" 3 

REVISED BY APPR 8 1325733 WASHER DOUBLE COIL SPRING LOCK 5/8" 5 
PWC REVISIONS 9 1105110 LINK EXTENSION 14 • 2 

3 

2 IIBB:IRICDIS 
1 STEEL ARM TWO PHASE DEADEND, 25KV 
0 3/31/08 CMJO GRAPHICS osr SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VB7SEC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VB7SEC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
STEEL ARM TWO PHASE DEADEND, 25KV

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
3/31/06

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
8"

AutoCAD SHX Text
13"

AutoCAD SHX Text
80"

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
9"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
7

AutoCAD SHX Text
1325760

AutoCAD SHX Text
3

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1325180

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12", w/NUT

AutoCAD SHX Text
3

AutoCAD SHX Text
1050149

AutoCAD SHX Text
2

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
1325733

AutoCAD SHX Text
5

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
1050149

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
2

AutoCAD SHX Text
1100023

AutoCAD SHX Text
1

AutoCAD SHX Text
CROSSARM, 60-INCH, STEEL

AutoCAD SHX Text
1325080

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
9

AutoCAD SHX Text
- NOTE -

AutoCAD SHX Text
PWC CLEARANCE STANDARDS

AutoCAD SHX Text
REQUIRE INSTALLATION

AutoCAD SHX Text
OF 14" EXTENSION LINK

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
9

AutoCAD SHX Text
1105110

AutoCAD SHX Text
2

AutoCAD SHX Text
LINK, EXTENSION, 14"

AutoCAD SHX Text
1

AutoCAD SHX Text
02/11/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



++------<3 
I ;II 

©/4 
SECTION X-X PLAN VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

] ::::iiiait:! ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 

C!5ii=-r,---1-~1-+-___!1~32~5~72_60~--l....!:W~AS:;!H~E~R:;,,, ,2.S~QU~AR~E,~CU:!!:RVE~D~,....:3~•---------------l---....:2~ 

3 01/00/2,l O.ICEl.10N PWCCSr 

2 t/2020 - PWC OST 

1 02/11/0II WJ PWC OST 

0 12/3/W JU. PWC OST 

REVISED BY APPR 
PWC REVISIONS 

3 

2 

0 12/1/0II ...., - OST 

REVISED BY APPR. 

2 1100010 CROSSARM, 8" WOOD 2 
3 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 4 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 

1325025 
1325085 
1075245 
1325535 
1050149 
1050149 
1100530 
1325733 
1325710 
1325145 
1325005 
1325710 
1100562 
1160065 
1325765 
1325530 
1065010 

BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
BOLT, OVAL EYE, 5/8" X 14" 1 
CONNECTOR PRL GRVE. COMP., #1 /7 1 
NUT, SQUARE, 5/8" 5 
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0 4 
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0 2 
BRACE, CROSSARM, WOOD, 38" X 18" 2 
WASHER DOUBLE COIL SPRING LOCK 5/8" 
WASHER, FLAT, ROUND, 3/8" 
SCREW, LAG, 1/2" X 4" 
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT 
WASHER, FLAT, ROUND, 3/8" 
PIN, CROSSARM, 1 •, LONG SHANK w/NUT 
INSULATOR, PIN TYPE, ANSI 55 6 
WASHER, SQUARE, FLAT, 5/8" 
NUT, EYE, GALV., 5/8" 
WIRE, TIE, #4 SOLID ALUMINUM 

11 
4 
2 
4 
4 
4 
4 
10 
5 
32 

CROSSARM CONSTRUCTION, IIBB:IRICDIS 
TWO PHASE, DOUBLE DEADEND, 25KV SCALE I 

1/2"=1'-0" 
DWG. 

VBSEC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VB8EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
12/8/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE.

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
CROSSARM CONSTRUCTION,

AutoCAD SHX Text
TWO PHASE, DOUBLE DEADEND, 25KV

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
11

AutoCAD SHX Text
8

AutoCAD SHX Text
3

AutoCAD SHX Text
X

AutoCAD SHX Text
80"

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
10

AutoCAD SHX Text
6"

AutoCAD SHX Text
42"

AutoCAD SHX Text
18

AutoCAD SHX Text
5

AutoCAD SHX Text
11

AutoCAD SHX Text
18

AutoCAD SHX Text
X

AutoCAD SHX Text
9"

AutoCAD SHX Text
18"

AutoCAD SHX Text
13

AutoCAD SHX Text
11

AutoCAD SHX Text
4

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
6

AutoCAD SHX Text
16

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
8

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
11

AutoCAD SHX Text
4

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
14

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
13

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
8

AutoCAD SHX Text
1050149

AutoCAD SHX Text
4

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
9

AutoCAD SHX Text
2

AutoCAD SHX Text
10

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
11

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
1050149

AutoCAD SHX Text
CLAMP, AL. STRAIGHT AUTOMATIC D.E. #4 - 2/0

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
5

AutoCAD SHX Text
1325085

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14"

AutoCAD SHX Text
6

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
CONNECTOR PRL. GRVE. COMP., #1/7

AutoCAD SHX Text
7

AutoCAD SHX Text
1325535

AutoCAD SHX Text
5

AutoCAD SHX Text
NUT, SQUARE, 5/8"

AutoCAD SHX Text
16

AutoCAD SHX Text
1100562

AutoCAD SHX Text
4

AutoCAD SHX Text
PIN, CROSSARM, 1", LONG SHANK w/NUT

AutoCAD SHX Text
15

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
17

AutoCAD SHX Text
1160065

AutoCAD SHX Text
4

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
19

AutoCAD SHX Text
20

AutoCAD SHX Text
19

AutoCAD SHX Text
19

AutoCAD SHX Text
1325530

AutoCAD SHX Text
5

AutoCAD SHX Text
NUT, EYE, GALV., 5/8"

AutoCAD SHX Text
20

AutoCAD SHX Text
1065010

AutoCAD SHX Text
32

AutoCAD SHX Text
WIRE, TIE, #4 SOLID ALUMINUM

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1

AutoCAD SHX Text
02/11/09

AutoCAD SHX Text
WJ

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
2

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWC OST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
3

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



~ ~ 
VNEUTRAL 

r> ~ 

J "' / I'-( A / 

~ D)) II II ( « O)lii (« 
V - @Y~ ~ v~ 

..... 

CDV 
PLAN VIEW 

- 4•1 
44" 

15•~29-~-

r$ rr1 6 

ii 1§1 +- IQ] /ii 1§1 ii 
II II II 

. ¼ 
~-"-/ ~ 

. 

~ '--POSITION OF GUY 

r----
WHEN REQUIRED 

~ 

FRONT VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

] ~ ! 
ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 

1 1160065 INSULATOR, PIN TYPE, ANSI 55 6, 25 KV 2 
2 1325005 BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT 2 
3 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
4 1325145 SCREW, LAG, 1 /2" X 4" 1 
5 1325760 WASHER, SQUARE, CURVED, 3" 1 
6 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 3 
7 1100010 CROSSARM, 8" WOOD 1 

3 6/2020 WRW3 PWC OST 8 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 
2 )9/21/09 JLJ_ PWC OST 9 1325710 WASHER, FLAT, ROUND, 3/8" 2 

1 8/12/08 JLJ_ PWC OST 10 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 1 

0 12/3/07 JLJ_ PWC OST 
11 1075245 CONNECTOR PRL. GRVE. COMP., #1 /7 1 
12 1325765 WASHER SOUARE FLAT 5/8" 1 

REVISED BY APPR 
13 1160040 INSULATOR PIN TYPE ANSI 55 4 1" GROOVE 15 KV 1 

PWC REVISIONS 14 1065010 WIRE TIE 114 SOLID ALUMINUM 24 
3 

2 CROSSARM CONSTRUCTION, TWO PHASE II ELECIHICITIS 
1 

0 12/8/05 CADO GRAPHICS OST NEUTRAL ON SINGLE ARM, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VB9-1EC 



PLAN VIEW 

- 4•1 
44" 

15•~29-~-

r$ rr1 5 

ii!Ql 1§1 +-IQ] /ii 1§1 
II IQ] ii 

. ¼ 
~-"-/ ~ Us-
~ '--POSITION OF GUY 

f's 
WHEN REQUIRED 

N 

FRONT VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6, 25 KV 4 
2 1325005 BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT 4 
3 1325145 SCREW, LAG, 1 /2" X 4" 2 
4 1325765 WASHER, SQUARE, FLAT, 5/8" 10 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 6 
6 1100010 CROSSARM, 8" WOOD 2 

3 6/2020 WFMJ PWC OST 7 1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
2 09/21/09 JLL PWC OST 8 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 2 
1 08/12/08 JLL PWC OST 9 1325710 WASHER, FLAT, ROUND, 3/8" 4 

0 12/3/07 JLL PWC OST 10 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 10 

REVISED BY APPR 
11 1075245 CONNECTOR PRL. GRVE. COMP., #1 /7 1 
12 1160040 INSULATOR, PIN TYPE, ANSI 55 4, 1" GROOVE, 15 KV 2 

PWC REVISIONS 13 1065010 WIRE TIE #4 SOLID ALUMINUM 48 
3 

2 CROSSARM CONSTRUCTION, TWO PHASE, II ELECIHICITIS 
1 

0 12/8/05 CADO GRAPHICS OST NEUTRAL ON DOUBLE ARMS, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VB9EC 



I 7 

14.4/24.9 KV 
THREE PHASE 
STRUCTURES 

L _J 



1 

0 

PLAN VIEW 

44•----------<14" ~ 

~ 
11 00-/~::~ :Mo 

~ ~~SITION OF GUY 
7 o o WHEN REQUIRED 

72• 

5 . 

I ~ 
~----~ 

-......,0 
PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 
FRONT VIEW 

#2 ACSR 15· 

#1/0 AAAC 12· 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 

1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

] ~ IIF-! --1-----!-----l-~~----l-!!:!=~!:.....!:!!!::.!.!.!:S..~~------~---1 
ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 

1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 3 
BOLT, MACHINE, GALV., 5/8" X 16" w/NUT 2 1325190 1 

3 1325760 WASHER, SQUARE, CURVED, 3" 2 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 3 
5 1100010 CROSSARM, 8 " WOOD 1 
6 1325145 SCREW, LAG, 112" X 4" 1 
7 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 
8 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 2 
9 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

6/ 2020 WFN/3 PWCOST 

12/ 3/ 07 JU. PWCOST 

10 1160130 INSULATOR, SPOOL, 53-2 1 
11 1325005 BOLT, CARRAGE, 3/8" X 4 112" w/NUT 2 

REVISED BY APPR 
12 1325710 WASHER, FLAT, ROUND, 3/8" 2 
13 1325765 WASHER SQUARE FLAT 5/8" 1 

PWC REVISIONS 14 1065010 TIE WIRE 114 SOLID ALUMINUM 24 
3 

2 CROSSARM 
1 

CONSTRUCTION, THREE PHASE II ELECIHICITIS 
0 2/ 1/ 05 CADO GRAPHICS OST 

REVISED BY APPR. 

CENTER PHASE ON ARM, 25KV SCALE I DWG. 
1;2·=1·-0· VC1-1EC 



b / [:",. 

~ / ' :-NMRAL 
/ 

~ ~ D) ( (( D)l (« 
V '- / 

~ V @/ 
PLAN VIEW 

I 
108" TO LOWEST 

BOLT OF 
TRANSMISSION 1r,.- I 18" I 52" ~·~1 ! if 

-- .o;nn 
II 11~11 

II II I· . II I II II II 

• • lloU • 

li 72• +-;:: 

l 
~ POSmON OF GUY 

WHEN REQUIRED 

7 

---- 8 

~ 
-...,,c 

PWC DESIGN LIMITS 
FRONT VIEW CONDUCTOR MAX ANGLE 

/12 ACSR 15' 
#1/0 AAAC 12' 

NOTES: 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

4. 1 O' FIBERGLASS ARM IS STANDARD CONSTRUCTION FOR DISTRIBUTION UNDERBUILD ON STEEL POLES. 

pMt: ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 3 
2 1325190 BOLT, MACHINE, GALV., 5/8" X 16" w/NUT 2 
3 1325760 WASHER, SQUARE, CURVED, 3" 3 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 3 
5 1100017 CROSSARM, 10 FOOT, FBGL. REIN. COMPOSITE 1 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 3 
7 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

0 6/ 2020 WRWJ PWCOST 
8 1160130 INSULATOR, SPOOL, 53 2 1 

REVISED BY APPR 9 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 
PWC REVISIONS 10 1065010 TIE WIRE 114 SOLID ALUMINUM 24 

3 
2 UNDERBUILD FBG. CROSSARM CONSTRUCTION .Pl'lt:: 
1 THREE PHASE 
0 2/ 6/09 WJJ OST CENTER PHASE ON ARM, 25KV SCALE I~ DWG. 

REVISED BY APPR. 1/2"=1'-o VC1-1FBG 



~@ ~ ~ 
I"-.. 

~ :--NE\/IRAI. 
/ 

~ ~) ~) 0 (t 
V ' v~ w @Y 

PLAN VIEW 

- 4•129• 15" 44• 

~~ $ I 

$ 111-
II @]-+ II 5 

I 
!! II 

• 

~ ~~ +...._ 2 

~ POSmON OF GUY 
72" WHEN REQUIRED 

I 

~ 

8 

~ 
---- 9 

----0 
FRONT VIEW PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

#336 ACSR 11. 

#477 AAC 10· 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 3 
2 1325190 BOLT, MACHINE, GALV., 5/8" X 16" w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 2 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 3 
5 1100010 CROSSARM, 8" WOOD 1 
6 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 1 
7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 3 
8 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
9 1160130 INSULATOR, SPOOL, 53-2 1 

10 1325155 BOLT, MACHINE, 1 /2" X 6", w/NUT 2 

1 6/2020 WRW3 PWCOST 
11 1325710 WASHER, FLAT, ROUND, 3/8" 2 
12 1325735 WASHER, SPLIT RING, LOCK, 1 /2" 2 

0 12/3/07 J U. PWCOST 
13 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 2 

REVISED BY APPR 14 1325765 WASHER SQUARE FLAT 5/8" 1 
PWC REVISIONS 15 1065010 TIE WIRE 114 SOLID ALUMINUM 24 

3 

2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 THREE PHASE, LARGE CONDUCTOR 
0 2/1/05 CADO GRAPHICS OST CENTER PHASE ON ARM, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC1-1 SEC 



b / [:",. 

~ / ' :-NMRAL 
/ 

~ ~ D) ( (( D)l (« 
V '- / 

~ V @/ 
PLAN VIEW 

I 
108" TO LOWEST 

BOLT OF 
TRANSMISSION 1r,.- I 18" I 52" ~·~1 ! if 

-- .o;nn 
II 11~11 

0 0 I· . 0 0 I 
• • lloU • 

li 72• +-;:: 

l 
~ POSmON OF GUY 

WHEN REQUIRED 

7 

---- 8 

~ 
-...,,c 

PWC DESIGN LIMITS 
FRONT VIEW CONDUCTOR MAX ANGLE 

1#336 ACSR 11. 

#477 AAC 10· 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

4. 1 O' FIBERGLASS ARM IS STANDARD CONSTRUCTION FOR DISTRIBUTION UNDERBUILD ON STEEL POLES. 

pMt: ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 3 
2 1325190 BOLT, MACHINE, GALV., 5/8" X 16" w/NUT 2 
3 1325760 WASHER, SQUARE, CURVED, 3" 3 
4 1100547 PIN, CROSSARM, SADDLE, 1' x 6" 3 
5 1100017 CROSSARM, 10 FOOT, FBGL. REIN. COMPOSITE 1 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 3 
7 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

0 6/ 2020 WRW3 PWCOST 8 1160130 INSULATOR, SPOOL, 53 2 1 
REVISED BY APPR 9 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 

PWC REVISIONS 10 1065010 TIE WIRE 114 SOLID ALUMINUM 24 
3 
2 UNDERBUILD FBG. CROSSARM CONSTRUCTION .Pl'lt:: 
1 8/ 9/ 11 JLL THREE PHASE, LARGE CONDUCTOR 
0 2/ 6/ 09 WJJ PWCOST CENTER PHASE ON ARM, 25KV SCALE I~ DWG. 
REVISED BY APPR. 1/2"=1'-o VC1 -1 SFBG 



-

"""f o F=== D 

l..,,c 

ALTERNATE 

- 4• 44" 44" 4• ~ 

I _,@ 
~ 

1 -0-
~-+. J= 

~ 
lA2l l. 

~ 8" ~$ 
-

~~--+ -Z:::S:::c 
6" 

ii -r- 0 "121 -----1.. 

°" 
ii I llr===b 

f 
II II . 

··@ ~ f( ~ . 
I -vt 

POSmON OF GUY ~ g 
WHEN REQUIRED 0 

1 =--
► 72" 

Le"'-----® Le 
or-- or--

~ 
_..._ NEUTRAL ..,, 

LIMITS ~ === PWC DESIGN 

ONDUCTOR MAX ANGLE 

Le #2 ACSR 15· L,c 

FRONT VIEW #1/0 AMC 12· 
SIDE VIEW 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING 

ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 

1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

l~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 3 
2 1100568 PIN, POLE TOP, 20" X 1" 1 
3 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
4 1325760 WASHER, SQUARE, CURVED, 3" 5 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 2 
6 1100010 CROSSARM, 8" WOOD 1 
7 1325005 BOLT, CARRIAGE, 3/8" X 4 1/2", w/NUT 2 
8 1325145 SCREW, LAG, 1/2" X 4" 1 
9 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 
10 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 4 
11 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
12 1160130 INSULATOR, SPOOL, 53 2 1 

1 6/2020 WRW3 PWCOST 13 1325710 WASHER, FLAT, ROUND, 3/8" 2 
0 12/3/07 Jll PWCOST 14 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 3 
REVISED BY APPR 15 1325765 WASHER, SQUARE, FLAT, 5/8" 1 

PWC REVISIONS 16 1065010 TIE WIRE #4 SOLID ALUMINUM 24 
3 

2 CROSSARM CONSTRUCTION THREE PHASE II ELECIHICITIS 
1 12/8/05 CADO GRAPHICS OST 

0 2/1/05 CADO GRAPHICS OST SINGLE LINE ARM, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VC1EC 



~ 12 

0 0---T 
I 4•+= -' 

0 

®-
---

~ 8" 

24" 
l___ 

0 

L-~ e==, ~ i ·~ 

0 
~ ~ 

5 6 7 
g• 

1' 
LJ_ 

i'-,_ POSITION OF GUY 
WHEN REQUIRED 

72" 

;;;;;;I ~ ~ ... NEUTRAL 
--- ' .,,.. I 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 
112 ACSR 15· 

#1/0 AAAC 12· 
-....,cp 

11336 ACSR 11· ~ 

-=-= -=-= 
#477 MC 10-

FRONT VIEW SIDE VIEW 
NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

:.Mt: ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6, 25 KV 3 
2 1100568 PIN, POLE TOP, 20" X 1 • 1 

4 1025255 BRACKET, FIBERGLASS 21 • 2 
5 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 2 
6 1325760 WASHER, SQUARE, CURVED, 3• 5 

2 6/2020 WRW3 PWCOST 7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 5 

1 08/12/0! 
8 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

JU. PWCOST 
9 1160130 INSULATOR, SPOOL, 53 2 1 

0 12/3/07 JU. PWCOST 10 1075245 CONNECTOR, PRL. GRVE., COMP., 11 /7 1 
REVISED BY APPR 11 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 3 

PWC REVISIONS 12 1065010 TIE WIRE 14 SOLID ALUMINUM 24 
3 
2 FIBERGLASS ARM, II ELECIHICITIS 
1 
0 2/10/05 CADD GRAPHICS OST NARROW PROFILE CONSTRUCTION, 25KV 

SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VC1FEC 



•• :i::::=-, --=-~ ,........, 

i 
~ ~===, 0 -
g• 

l_ 

POSITION OF GUY _/ 
WHEN REQUIRED 

38" 

1 

~ 
~~ ===, - ii Q 

10" lYP. 

~ 
/'.t--. 

l_~ Cl Dl 
===, ,v 0 ~ 

-

38" PLAN VIEW 

~ ~J 
(JJ 

-- ii 
~~ ===, 0 

t -
g• 

l_ ---c 

POSmON OF GUY_/-;;::.~ 
72• 

~ 
C>"""' 

WHEN REQUIRED j A 
~ 

I ... 
7 PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

-......-<~ #2 ACSR 15' ...c 

= #1/0 AAA.C 12' = 
#336 ACSR 11' SIDE VIEW 

FRONT VIEW #477 AAC 10' NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6, 25 KV 3 
2 1025255 BRACKET, FIBERGLASS 21 • 3 

3 6/2020 WRWJ PWCOST 3 1325180 BOLT, MACHINE, 5/8" x12· . w/NUT 7 

2 09/ 21 /0, JU. PWCOST 4 1325760 WASHER, SQUARE, CURVED, 3" 7 

1 08/12/0I JU. PWCOST 
5 1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 7 
6 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

0 12/ 3/ 07 JU. PWCOST 7 1160130 INSULATOR, SPOOL, 53 2 1 
REVISED BY APPR 8 1075245 CONNECTOR, PRL. GRVE., #1/7 1 

PWC REVISIONS 9 1065010 TIE WIRE 114 SOLID ALUMINUM 24 
3 

2 

1 
THREE PHASE VERTICAL, FIBERGLASS, II ELECIHICITIS 

0 2/10/05 CAOD GRAPHICS OST ARMLESS CONSTRUCTION, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC1 F-VEC 



l-4" 
IIOII-+---+ 

i· 
24" 

.l-~ ---, ~. ' 
-+-----~,-~=-- ¼ 

72" 

g• 

l_ 

POSITION OF GUY _J 
WHEN REQUIRED 

3 

9 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

/12 ACSR 1 s· 
/11/0 AAAC 12· 
1336 ACSR 11· 

FRONT VIEW 
NOTES: /1477 AAC 10-

NEUTRAL 
' ... 

SIDE VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSmON EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 

1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

illaz.. ITEM PWC STOCK # PWC MATERIAL DESCRIPTION ...----- :cu 1 1160073 INSULATOR, LINE POST, TIE TOP, 35 KV 
2 1025320 BRACKET, POLE TOP INSULATOR 
3 1025226 BRACKET, INSULATOR, OFFSET, g• 
4 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 
5 1325760 WASHER, SQUARE, CURVED, 3" 
6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 
7 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 

1 6/ 2020 _,, PWCOST 8 1160130 INSULATOR, SPOOL, 53-2 
0 12/ 3 / 07 JU. PWC0ST 9 1100537 STUD, INSULATOR, SHORT 
REVISED BY APPR 10 1075245 CONNECTOR, PRL. GRVE., #1/7 

PWC REVISIONS 11 1065010 TIE WIRE 114 SOLID ALUMINUM 
3 

QTY • 
3 

2 
5 
3 
5 

3 

24 

2 THREE PHASE, II ELECIHICITIS 
Q 3/ 10/05 CADD GRAPHICS 

REVISED BY 

OST 

APPR. 

ALTERNATE LINE POST CONTRUCTION, 25KV SCALE I DWG. 
1;2·=1·-0· VC1 LPA-EC 



F·=· ~-
1 

l ~ 

1:1 
4"10· ~ L~ ===, -, 

38" 

~J ~ ===, 

~ 
s 

I ll]] ~ 

~ ~ === 

PLAN VIEW 
38" 

~ ===, D--~ J s- r@ 

~ === 1:1 
4 

·J~ ~ 
......c 

72" 
0,---

I ... 
PWC DESIGN LIMITS 

... 

CONDUCTOR MAX ANGLE ....c 
/12 ACSR 15' -

- /11/0 AAAC 12' 
FRONT VIEW /1336 ACSR 11' SIDE VIEW 

NOTES: /1477 AAC 10' 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

pMt: ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1160073 INSULATOR, LINE POST, TIE TOP, 35 KV 3 
2 1025226 BRACKET, INSULATOR, OFFSET, 9" 3 
3 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 7 
4 1325760 WASHER, SQUARE, CURVED, 3" 7 
5 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 7 

1 
6 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

6/2020 WRW3 PWCOST 
7 1160130 INSULATOR, SPOOL, 53 2 1 

0 12/3/ 07 JU. PWCOST 8 1100537 STUD, INSULATOR, SHORT 3 
REVISED BY APPR 9 1075245 CONNECTOR, PRL. GRVE., #1/7 1 

PWC REVISIONS 10 1ni::"-n10 TIE WI~!'" llL C:nl ID Al I IUINI IU ?4 

3 
2 THREE PHASE, II ELECIHICITIS 
1 ALTERNATE VERTICAL LINE POST CONSTRUCTION, 
0 3/10/05 CADO GRAPHICS OST 25KV SCALE lvi DWG. 
REVISED BY APPR. 1;2·=1·-0· C1 LPA-VEC 



r·r.,- I 42•7·~ I 

~ ~~ 
~&) 0 0 (~~: 

~4- ~ =4- ~ 

~NEUTRAL 

2 
4 14 ~ 

L1 

.=f ~ 
~ lrim 4

~ 

,.. I A ti I ief-~- (s)-, ______., 

-I ::121 II _L_ JQI II 121:: I II - !! 01====' 

-~~ k::::¼ . 
+, 

POSITION OF G:Y 

L,c 

: 7 15 ~ 
ALTERNATE 

WHEN REQUIRED 

~ 
~ 

72" NOTES: --
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION 

EXCEPT TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 

SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 

1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND 
ATTACHMENTS SEPERATELY AS REQUIRED. 

" 13 

~ 10 
PWC DESIGN LIMITS 

L,e; CONDUCTOR MAX ANGLE 

#336 ACSR 11· 
FRONT VIEW #477 MC 10' 

l~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 3 
2 1100568 PIN, POLE TOP, 20" X 1" 1 
3 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
4 1325760 WASHER, SQUARE. CURVED, 3" 5 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 2 
6 1100010 CROSSARM, 8' WOOD 1 
7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 5 
8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 1 
9 1325735 WASHER, SPLIT RING, LOCK, 1 /2" 2 
10 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
11 1325155 BOLT, MACHINE, 1 /2" X 6", w/NUT 2 
12 1325710 WASHER, FLAT ROUND, 3/8" 2 

1 6/ 2020 WRWJ PWCOST 13 1160130 INSULATOR, SPOOL, 53 2 1 
0 12/3/07 JU. PWCOST 14 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 4 
REVISED BY APPR 15 1325765 WASHER. SQUARE, FLAT, 5/8" 1 

PWC REVISIONS 16 1065010 TIE WIRE, #4 SOLID ALUMINUM 24 
3 
2 CROSSARM CONSTRUCTION, THREE PHASE II ELECIHICDIS 
1 11 / 10/05 CAOO GRAPHICS OST 

0 2/ 1/ 05 CAOO GRAPHICS OST LARGE CONDUCTOR, SINGLE ARM, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VC1SEC 



~L ~NMRAL L 
~(ID I 11( (ID) II II I ~ 

~~I @<~ 
~ < !!)t----@ ©-< ,........_ II ~ .,-....__ t\' ii( (ID)) II ii '\ " 

~ \~ \ ~ 
PLAN VIEW 

- 4•129• 

I 
15• I 44• J:l1/-@ 1 

- -
~~ ~ 177~ 4 ~ 9•1 

~ 
II 0 0 II _l___o/ 0 @] :: I !! !! 

r . 

~ ~~ 
. 

POSITION OF GUY~ 7 

WHEN REQUIRED ~ 
0 0 

72" 0---' 

..__.,c 

0----

-;;;;;;I 
---

13 PWC DESIGN LIMITS 
8 CONDUCTOR MAX ANGLE 

..__.,c #336 ACSR 22· 

FRONT VIEW /1477 AAC 20-

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 

] ~ ! 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 6 
2 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 1 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 6 
5 1100010 CROSSARM, 8" WOOD 2 
6 1325145 SCREW LAG 1/2" X 4" 2 
7 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 2 
8 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
9 1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 11 

10 1325025 BOLT DOUBLE ARMING 5/8" X 20" w/NUT 3 

1 
11 1325005 BOLT, CARRIAGE, 3/8"X 4 1/2", w/NUT 4 

6/2020 WRW3 PWCOST 
12 1325710 WASHER, FLAT, ROUND, 3/8" 4 

0 12/3/07 JU. PWCOST 
13 1160130 INSULATOR, SPOOL, 53 2 1 

REVISED BY APPR 14 1325765 WASHER. SQUARE FLAT 5/8" 10 
PWC REVISIONS 15 1065010 TIE WIRE #4 SOLID ALUMINUM 24 

3 

2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 THREE PHASE, LARGE CONDUCTOR 
0 2/1/05 CADO GRAPHICS OST CENTER PHASE ON DOUBLE ARMS, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC2-1EC 



72• 

PLAN VIEW 

l 

POSITION OF GU~ 
WHEN REQUIRED T ~ L -' 0 

~ 
~ 

>--@ 
6 

• 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 
TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 
SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND 

ATTACHMENTS SEPERATELY AS REQUIRED. 

POSITION OF>~ 

GUYW/ROD ~ ~ 

--'--------------''II==--;;;;; --

.....,.c 
FRONT VIEW 

7 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 
1336 ACSR 22' 

#477 AAC 20' 

.FN:; ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 6 
2 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 1 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 6 
5 1100010 CROSSARM, 8" WOOD 2 
6 1100532 BRACE CROSSARM WOOD 60" X 30" 2 
7 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
8 1160130 INSULATOR, SPOOL, 53-2 1 
9 1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 11 

10 1325025 BOLT DOUBLE ARMING 5/8" X 20" w/NUT 3 
11 1325155 BOLT, MACHINE, 1/2" X 6", w/NUT 4 

1 6/ 2020 WRWJ PWCOST 12 1325735 WASHER SPLIT RING LOCK 1 /2" 4 
Q 12/ 3/ 07 JLL PWCOST 13 1325020 BOLT DOUBLE ARMING 5/8" X 18" w/NUT 1 
REVISED BY APPR 14 1325765 WASHER. SQUARE FLAT 5/8" 10 

PWC REVISIONS 15 1065010 TIE WIRE #4 SOLID ALUMINUM 24 
3 

2 CROSSARM CONSTRUCTION II ELECIHICITIS THREE PHASE, LARGE CONDUCTOR 
Q 4/7 / 05 CADO GRAPHICS OST 

REVISED BY APPR. 
CENTER PHASE ON DOUBLE ARMS, 25KV SCALE I DWG. 

1;2·=1·-0· VC2-1 SEC 



AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
VC2-1SFBG

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
UNDERBUILD FBG. DOUBLE CROSSARM

AutoCAD SHX Text
CONSTRUCTION

AutoCAD SHX Text
THREE PHASE, LARGE CONDUCTOR

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
8

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1160065

AutoCAD SHX Text
6

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
16

AutoCAD SHX Text
3

AutoCAD SHX Text
1230010

AutoCAD SHX Text
6

AutoCAD SHX Text
CLEVIS, INSULATED SECONDARY, DEADEND

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
1100562

AutoCAD SHX Text
6

AutoCAD SHX Text
PIN, CROSSARM, 1", LONG SHANK w/NUT

AutoCAD SHX Text
6

AutoCAD SHX Text
1100017

AutoCAD SHX Text
1

AutoCAD SHX Text
CROSSARM, 10 FOOT, FBGL. REIN. COMPOSITE

AutoCAD SHX Text
7

AutoCAD SHX Text
1325180

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12", w/NUT

AutoCAD SHX Text
8

AutoCAD SHX Text
1325733

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
1325025

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20" w/NUT

AutoCAD SHX Text
5

AutoCAD SHX Text
1160130

AutoCAD SHX Text
INSULATOR, SPOOL, 53-2

AutoCAD SHX Text
9

AutoCAD SHX Text
1

AutoCAD SHX Text
3. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
O

AutoCAD SHX Text
1065010

AutoCAD SHX Text
48

AutoCAD SHX Text
TIE WIRE, #4 SOLID ALUMINUM

AutoCAD SHX Text
10

AutoCAD SHX Text
CONDUCTOR

AutoCAD SHX Text
PWC DESIGN LIMITS

AutoCAD SHX Text
MAX ANGLE

AutoCAD SHX Text
#336 ACSR

AutoCAD SHX Text
#477 AAC

AutoCAD SHX Text
11°

AutoCAD SHX Text
10°

AutoCAD SHX Text
10

AutoCAD SHX Text
8"

AutoCAD SHX Text
34"

AutoCAD SHX Text
18"

AutoCAD SHX Text
52"

AutoCAD SHX Text
8"

AutoCAD SHX Text
72"

AutoCAD SHX Text
9"

AutoCAD SHX Text
108" TO LOWEST BOLT OF  TRANSMISSION

AutoCAD SHX Text
4. 10' FIBERGLASS ARM IS STANDARD CONSTRUCTION FOR DISTRIBUTION UNDERBUILD ON STEEL POLES.

AutoCAD SHX Text
8/9/11

AutoCAD SHX Text
JLL

AutoCAD SHX Text
24"

AutoCAD SHX Text
CENTER PHASE ON ARM, 25KV

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
30"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
30"

AutoCAD SHX Text
24"

AutoCAD SHX Text
1325765

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
1

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
8/2023

AutoCAD SHX Text
DK



-NEUTRAL 

T r~· 19" 52" 

I 
··~ 

-~ ~ ij ....... .,,., 
L"'- " 1 ~ ~.l 0 ( « D.)) II ii 0 t, .., ' ~+* ©®--( 

~ 
~ / 

~ ~)) 0 (_« ~.l II !! 0 ~ / ' 
,,. ,,. 

J ,,.L,.. @V J 39• 17" 

PLAN VIEW 

$ ~ 'r - ~ ~ 9• 

ii@J ii ii@J +-@] @] II @:iii I 

r 
II II . 

¼ ~ 
. 

~--
9 

8 0 

POSITION OF GUY 
72" WHEN REQUIRED 

--....,,0 
~ 

CY"" 
11 PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

c~x~x~=: 
12 

#2 ACSR 30" 

#1/0 AAAC 25· 

NOTES: FRONT VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 6 
2 1325155 BOLT, MACHINE, 1 /2" X 6", w/NUT 4 
3 1325765 WASHER. SQUARE FLAT 5/8" 18 
4 1325760 WASHER, SQUARE, CURVED, 3" 1 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 6 
6 1100015 CROSSARM, 10" WOOD 2 
7 1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 5 
8 1100532 BRACE CROSSARM WOOD 60" X 30" 2 
9 1325735 WASHER SPLIT RING LOCK 1 /2" 4 

10 1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 20 

1 6/2020 WRW3 PWCOST 
11 1230010 CLEVIS INSULATED SECONDARY DEADEND 1 
12 1160130 INSULATOR SPOOL 53 2 1 

0 12/3/07 JU. PWCOST 
13 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 2 

REVISED BY APPR 14 1325020 BOLT, DOUBLE ARMING, 5/8" X 18", w/NUT 1 
PWC REVISIONS 15 1065010 TIE WIRE #4 SOLID ALUMINUM 24 

3 
2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 11 /10/05 CADO GRAPHICS OST THREE PHASE. CENTER 
0 2/1/05 CADO GRAPHICS OST PHASE ON ARM, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC2-2EC 



$ 

r 
::@] 
V 

~ 

II 

!! 

72" 

NOTES: 

-NEUTRAL 

PLAN VIEW 

@] +-@] 

~----

---0 

FRONT VIEW 

r ~ 5 

II 
II 

~ 
8 

POSITION OF GUY 
WHEN REQUIRED 

11 

iv--

@]:: I 
V 

12 PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

11336 ACSR 22· 

#477 MC 20-

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

ill1t:J ITEM PWC STOCK # PWC MATERIAL DESCRIPTION 
~ 1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 

QTY. 
6 

1 6/2020 WRW3 PWCOST 

0 12/3/07 JU. PWCOST 

REVISED BY APPR 

PWC REVISIONS 
3 
2 
1 11 / 10/05 CADO GRAPHICS OST 

0 2/1/05 CADO GRAPHICS OST 

REVISED BY APPR. 

2 1325155 BOLT, MACHINE, 1/2" X 6", w/NUT 
3 1325765 WASHER. SQUARE FLAT 5/8" 
4 1325760 WASHER, SQUARE, CURVED, 3" 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 
6 1100015 CROSSARM, 10" WOOD 
7 
8 
9 

10 
11 
12 
13 
14 
15 

1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 
1100532 BRACE CROSSARM WOOD 60" X 30" 
1325735 WASHER SPLIT RING LOCK 1 /2" 
1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 
1230010 CLEVIS INSULATED SECONDARY DEADEND 
1160130 INSULATOR SPOOL 53 2 
1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 
1325020 BOLT, DOUBLE ARMING, 5/8" X 18", w/NUT 
1065010 TIE WIRE #4 SOLID ALUMINUM 

CROSSARM CONSTRUCTION 
THREE PHASE, LARGE CONDUCTOR 

CENTER PHASE ON ARM, 25KV 

4 
18 
1 
6 
2 
5 
2 
4 
20 

2 

24 

II ELECIHICITIS 
SCALE I DWG. 

1;2·=1·-0· VC2-2SEC 



6"-t------,.----42" _____ ,__ ____ 42" -----+---t-6" 

12 
PLAN VIEW 

0 
3 

POLE TOP PIN ASSEMBLY 

POSITION OF GUY 
WHEN REQUIRED 

72• 

2 6/2020 WRW3 PWCOST 

1 5/12/14 WRW3 PWCOST 

0 12/3/07 JU. PWCOST 

REVISED BY APPR 
PWC REVISIONS 

3 

2 
1 11 / 10/05 CADO GRAPHICS OST 

Q 2/1/05 CADO GRAPHICS OST 

REVISED BY APPR. 

POSITION OF 
GUY W/ ROD 

ITEM PWC STOCK 
1 1160065 
2 1100572 
3 1325180 
4 1325005 
5 1100562 
6 1100010 
7 1325733 
8 1100530 
9 1230010 
10 1160130 
11 1325710 
12 1325760 
13 1325145 
14 1325025 
15 1325765 
16 1065010 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 
TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 
SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND 

ATTACHMENTS SEPERATELY AS REQUIRED. 
10 

PWC DESIGN LIMITS 
CONDUCTOR 

PWC MATERIAL DESCRIPTION 
INSULATOR, PIN-TYPE, ANSI 55-6 
PIN, POLE TOP, 20" X 1 ", OFFSET 
BOLT, MACHINE, 5 8" X 12", w NUT 
BOLT, CARRIAGE, 3 8"X 4-1 2·. w NUT 
PIN, CROSSARM, 1 ", LONG SHANK w NUT 
CROSSARM, 8" WOOD 
WASHER, DOUBLE COIL SPRING LOCK, 5 8" 
BRACE, CROSSARM, WOOD, 38" X 18" 
CLEVIS, INSULATED SECONDARY, DEADEND 
INSULATOR, SPOOL, 53-2 
WASHER, FLAT, ROUND, 3 8" 
WASHER, SQUARE, CURVED, 3• 
SCREW LAG 1 2" X 4" 
BOLT DOUBLE ARMING 5 8" X 20" w NUT 
WASHER SQUARE FLAT 5 8" 
TIE WIRE 4 SOLID ALUMINUM 

MAX ANGLE 
30" 
25· 

QTY. 
6 
2 
4 
4 
4 
2 

14 
2 

4 
2 
2 
3 
10 
24 

CROSSARM CONSTRUCTION THREE 
PHASE, DOUBLE ARM, 25KV 

II ELECIHICITIS 
SCALE 

1;2·=1·-0· 
DWG. 

VC2EC 



6" 42" 

I 

42" 6" 

I 

I Ll r-© '® /-© L 
~ @)) 0 SI 0 

(~ 
~ <II ~ 7 12 ,) 0 ,®" 0 

~-\ J~ ~ 
PLAN VIEW 

~ 
I 
I 

®\ ~ 
3 7 I 

I 
I 
I I 2 : : 

I .. \' 'K! ~ ldV 12 1 

~ 4 18" --
~ ~y ~ 3 7 

- ::121 )i += 121 II I§]:: II 

• 

@/.~ ~ 
• 

POLE TOP PIN ASSEMBLY 

~:smoN OF GUY ~-

/I-

~ 
0 

WHEN REQUIRED 8 

~ 
NOTES: 

72" --
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT 

TO RISE TO A LIGHTNING ARRESTER OR TRANSFORMER. 
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR 

SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND 

ATTACHMENTS SEPERATELY AS REQUIRED. 

~ 
10 PWC DESIGN LIMITS 

9 CONDUCTOR MAX ANGLE 

#336 ACSR 22· 

........c FRONT VIEW #477 AAC 20· 

~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 6 
2 1100572 PIN, POLE TOP, 20" X 1 ", OFFSET 2 
3 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 4 
4 1325715 WASHER, FLAT, ROUND, 112" 4 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 4 
6 1100010 CROSSARM, 8" WOOD 2 
7 1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 15 
8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 2 
9 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 

10 1160130 INSULATOR, SPOOL, 53 2 1 
11 1325735 WASHER, SPLIT RING, LOCK, 112" 4 
12 1325760 WASHER, SQUARE, CURVED, 3" 2 

2 6/2020 _, WF<NJ 13 1325025 BOLT DOUBLE ARMING 5/8" X 20" w/NUT 3 
1 5/ 12/14 

_, WF<NJ 14 1325155 BOLT MACHINE 1 /2" X 6" w/NUT 4 
0 12/3/07 Jll PWCOST 15 1325765 WASHER SQUARE FLAT 5/8" 10 
REVISED BY APPR 16 1325020 BOLT DOUBLE ARMING 5/8" X 18" w/NUT 1 

PWC REVISIONS 17 1065010 TIE WIRE #4 SOLID ALUMINUM 24 
3 
2 CROSSARM CONSTRUCTION THREE PHASE II ELECIHICITIS 
1 11 / 10/ 05 CADO GRAPHICS OST 

0 2/ 1/ 05 CADO GRAPHICS OST LARGE CONDUCTOR, DOUBLE ARM, 25KV 
SCALE I DWG. 

REVISED BY APPR. 1/2"=1·-o· VC2SEC 



48" 

48" 

so· 

I • ===i@lltmffl:i:tmttlilm------
9• l_' 

.....C ""'---- POSmON OF GUY 

0---

-
I • •===,l@llllffltmmttl:_m!----
g• 

l_' 
""'---- POSmON OF GUY 

I 7 
X ~ 

~----~===-

4 

PLAN 

SECTION X-X 

PWC DESIGN LIMITS 

CONDUCTOR MAX ANGLE 

POSITION OF GUY #2 ACSR 30" -60" 

C~X~Xi 
#1/0 AAAC 30·-50· 

#336 ACSR 22°-45° 

#477 AAC 20"-45" 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTOR 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

.aJftb ITEM 
1 

PWC STOCK # PWC MATERIAL DESCRIPTION 
1325760 WASHER, SQUARE, CURVED, 3" 

2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
2 01/118/2,1 O.ICD.lON - 3 1325185 BOLT, MACHINE, 5/8" X 14" 

1 1/11120 - - 4 ANGLE ASSEMBLY, PRIMARY (AS REQUIRED) 

0 1'l/3/r11 .... - 5 
6 

REVISED BY APPR 

ANGLE ASSEMBLY, NEUTRAL (AS REQUIRED) 
1325733 WASHER, DOUBLE COIL SPRING LOCK, 5/8" 

PWC REVISIONS 

3 

QlY. 
4 
3 
4 
3 

4 

2 VERTICAL CONSTRUCTION 
THREE PHASE 

SUSPENSION STRUCTURE, 25KV 

IIBB:IRICDIS 
1 

0 2/1/06 -- osr 

REVISED BY APPR. 
SCALE I DWG. 

1;2·=1·-0· VC3EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VC3EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
2/1/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
VERTICAL CONSTRUCTION

AutoCAD SHX Text
THREE PHASE

AutoCAD SHX Text
SUSPENSION STRUCTURE, 25KV

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTOR

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
48"

AutoCAD SHX Text
48"

AutoCAD SHX Text
80"

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
6

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
3

AutoCAD SHX Text
1325185

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 14"

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
ANGLE ASSEMBLY, PRIMARY (AS REQUIRED)

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
ANGLE ASSEMBLY, NEUTRAL (AS REQUIRED)

AutoCAD SHX Text
6

AutoCAD SHX Text
1325733

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, DOUBLE COIL SPRING LOCK, 5/8"

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
CONDUCTOR

AutoCAD SHX Text
PWC DESIGN LIMITS

AutoCAD SHX Text
MAX ANGLE

AutoCAD SHX Text
#2 ACSR

AutoCAD SHX Text
#1/0 AAAC

AutoCAD SHX Text
30°-60°

AutoCAD SHX Text
30°-60°

AutoCAD SHX Text
#336 ACSR

AutoCAD SHX Text
#477 AAC

AutoCAD SHX Text
22°-45°

AutoCAD SHX Text
20°-45°

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER



9• 

3• 

48" 

PLAN VIEW 
3• 

9• 

3• 
80" 

I 
,x x7 

3• 

9• 

3• 

SECTION X-X 

FRONT VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

pMb ITEM PWC STOCK PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQAURE, CURVED, 3" 8 
2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 6 

2 01/118 O.ICD.lON - 3 1325185 BOLT, MACHINE, 5 8" X 14" 8 

1 8/2<120 - - 4 1075245 CONNECTOR, PRL. GRVE., COMP., 1 7 4 

0 12/3/117 
5 CLAMP, AL. STRAIGHT D.E. AS REQUIRED 6 .... - 6 CLAMP, AL. STRAIGHT D.E. AS REQUIRED 2 

REVISED BY APPR 7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5 8" 8 
PWC REVISIONS 

3 

2 VERTICAL CONSTRUCTION, THREE IIBB:IRICDIS 
PHASE - CORNER STRUCTURE, 

0 2/1/06 -- osr DOUBLE DEADEND, 25KV SCALE DWG. 

REVISED BY APPR. 1/2"=1'-0" VC4EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VC4EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
2/1/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
VERTICAL CONSTRUCTION, THREE

AutoCAD SHX Text
PHASE - CORNER STRUCTURE,

AutoCAD SHX Text
DOUBLE DEADEND, 25KV

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
80"

AutoCAD SHX Text
X

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
6

AutoCAD SHX Text
X

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
48"

AutoCAD SHX Text
48"

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
3"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
3"

AutoCAD SHX Text
7

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
POSITION OF GUYS

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
8

AutoCAD SHX Text
WASHER, SQAURE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
1325185

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
1075245

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
-

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
1325733

AutoCAD SHX Text
8

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 14"

AutoCAD SHX Text
CONNECTOR, PRL. GRVE., COMP., #1/7

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



~ -
GUYS 

'--0 PLAN VIEW 

~ ;<iJ 4 g•- 6X3XsA -- .. 

POSITION____,/ 
OF GUY 

48" 

~ ;<iJ 4 

-
POSITION____,/ 
OF GUY 

48" 

~ ;<iJ 4 

,i-- SECTION X-X 

POSITION____,/ 
OF GUY 

80" 

t 7 
X X 

,i-- - NEUTRAL 

5 

I....C 

PLAN VIEW 
NOTES: --
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 

TRANSFORMER. 
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1 . SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

PM, ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QlY. 
1 1325760 WASHER, SQAURE, CURVED, 3" 4 
2 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 3 

2 08/08/23 0.ICEUl)N - 3 1325185 BOLT, MACHINE, 5/8" X 14" 4 
1 l/2020 - - 4 - CLAMP, AL STRAIGHT D.E. (AS REQUIRED) 3 

0 12/3/07 .... - 5 CLAMP, AL STRAIGHT D.E. (AS REQUIRED) 1 
6 1325535 NUT, SQUARE, 5/8" 4 

REVISED BY APPR 

PWC REVISIONS 

3 

2 

1 
VERTICAL CONSTRUCTION, THREE IIEIICIRICDIS 

0 12/14/05 C,11)1) GRN'HCS osr PHASE, DEADEND, 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-6" VC5EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VC5EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-6"

AutoCAD SHX Text
12/14/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
VERTICAL CONSTRUCTION, THREE

AutoCAD SHX Text
PHASE, DEADEND, 25KV 

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
GUYS

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
X

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
X

AutoCAD SHX Text
POSITION

AutoCAD SHX Text
POSITION

AutoCAD SHX Text
OF GUY

AutoCAD SHX Text
POSITION

AutoCAD SHX Text
5

AutoCAD SHX Text
9"

AutoCAD SHX Text
48"

AutoCAD SHX Text
48"

AutoCAD SHX Text
80"

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
OF GUY

AutoCAD SHX Text
OF GUY

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SQAURE, CURVED, 3"

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
3

AutoCAD SHX Text
1325185

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
-

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
1325535

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 14"

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
NUT, SQUARE, 5/8"

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



I 
48" 

T 
72" 

2 OIi/Of;/ D.ICEIJQI ......... 

let=_, P'IC0SI' 

0 12/3/1¥1 .... -
REVISED BY APPR 

PWC REVISIONS 

3 

2 

osr 

REVISED BY APPR. 

PLAN VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL 
POSITION EXCEPT TO RISE TO A LIGHTNING 
ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN 
INSULATOR SUFFICIENT TO PROVIDE TWO 
FEET OF AIR CLEARANCE. 

3. ADD PIN INSULATOR SUPPORT FOR JUMPER 
CONDUCTORS AS NEEDED. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR 

DEADEND ATTACHMENTS SEPERATELY AS 
REQUIRED. 

-----+-- POSITION OF GUY 
WHEN REQUIRED 

NEUTRAL 

POSITION OF GUY 
WHEN REQUIRED 

NEUTRAL 

FRONT VIEW SIDE VIEW 

ITEM PWC STOCK 
1 1325760 
2 1100010 
3 1325005 
4 1325145 
5 1160026 
6 1325025 
7 1325080 
8 1325530 
9 
10 
11 1100530 
12 1325710 
13 1325733 
14 1325765 
15 1065010 

PWC MATERIAL DESCRIPTION 
WASHER, SQUARE, CURVED, 3" 
CROSSARM, 8" WOOD 
BOLT, CARRAGE, 3 8" X 4-1 2" w NUT 
SCREW, LAG, 1 2" X 4" 
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
BOLT, DOUBLE ARMING, 5 8" X 20", w NUT 
BOLT, OVl,L, EYE, 5 8" X 12" 
NUT, EYE, GALV, 5 8" 
CLAMP, AL STRAIGHT D.E. AS REQUIRED 
CLAMP, AL. STRAIGHT D.E. AS REQUIRED 
BRACE, CROSSARM, WOOD, 38" X 18" 
WASHER, FLAT, ROUND, 3 8" 
WASHER DOUBLE COIL SPRING LOCK 5 8" 
WASHER SQUARE FLAT 5 8" 
TIE WIRE 4 SOLID ALUMINUM 

CROSSARM CONSTRUCTION, THREE-PHASE 
DOUBLE DEADEND, CORNER CONSTRUCTION, 25KV 

QTY. 
2 
4 
8 
4 
6 
6 

6 
6 
2 
4 
8 
22 
20 
12 

IIEIICIRICDIS 
SCALE DWG. 

1;2·=1·-s· VC6-1 EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VC6-1EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-6"

AutoCAD SHX Text
CROSSARM CONSTRUCTION, THREE-PHASE

AutoCAD SHX Text
DOUBLE DEADEND, CORNER CONSTRUCTION, 25KV

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
2/26/07

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN

AutoCAD SHX Text
POSITION EXCEPT TO RISE TO A LIGHTNING

AutoCAD SHX Text
INSULATOR SUFFICIENT TO PROVIDE TWO

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
3

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
48"

AutoCAD SHX Text
9"

AutoCAD SHX Text
11

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
10

AutoCAD SHX Text
9"

AutoCAD SHX Text
9

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
9"

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
FEET OF AIR CLEARANCE.

AutoCAD SHX Text
3. ADD PIN INSULATOR SUPPORT FOR JUMPER

AutoCAD SHX Text
CONDUCTORS AS NEEDED.

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
13

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
14

AutoCAD SHX Text
72"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
2

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
4

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
8

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
4

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
6

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
6

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
-

AutoCAD SHX Text
6

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
10

AutoCAD SHX Text
2

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
4

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
8

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
22

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
20

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
6

AutoCAD SHX Text
1325080

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12"

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1065010

AutoCAD SHX Text
12

AutoCAD SHX Text
TIE WIRE, #4 SOLID ALUMINUM

AutoCAD SHX Text
15

AutoCAD SHX Text
DEADEND ATTACHMENTS SEPERATELY AS

AutoCAD SHX Text
REQUIRED.

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



··1 r«· «·71·· 
~ I 

~ 
-
◄ --

1?L 18" 

~ ~ 
;s 

I ;,,-= 

-r--- - r l[QI ~ - - o 121 _____[_ 0 
,,,_ 

I ~ .I /Y . 9•_J 

~ --
48" POSmON OF GUY 

WHEN REQUIRED fjffi" 
72" 

I 
~ 

~~ 
I ~ 29• --i~4• 

~ 
;,-

-=- I I 0 1!!1-~ I 0,. I 

~~ 0-- -- POSmON OF GUY -9• 8 
WHEN REQUIRED r i ,-- t_ 

9"-

~~ '™ 0 
FRONT VIEW SIDE VIEW 

NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK# PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6 3 
2 1325190 BOLT, MACHINE, 5/8" X 16", w/NUT 1 
3 1325760 WASHER, SQUARE, CURVED, 3" 2 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 3 
5 1100010 CROSSARM, 8" WOOD 1 
6 1325005 BOLT, CARRIAGE, 3/8" X 4 1/2", w/NUT 2 
7 1325145 SCREW, LAG, 1/2" X 4" 1 
8 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 1 
9 1325740 WASHER, LOCK, 5/8" 3 

10 1230010 CLEVIS, INSULATED SECONDARY, DEADEND 1 
11 1160130 INSULATOR, SPOOL, 53-2 1 

1 6/2020 WRW3 PWCOST 
12 1325710 WASHER, FLAT, ROUND, 3/8" 2 

0 12/J/07 Jll PWCOST 13 1325180 BOLT MACHINE 5/8" X 12" w/NUT 1 
REVISED BY APPR 14 1325765 WASHER. SQUARE FLAT 5/8" 1 

PWC REVISIONS 15 1065010 TIE WIRE 114 SOLID ALUMINUM 24 
3 
2 CROSSARM CONSTRUCTION, THREE-PHASE II ELECIHICITIS 
1 
0 1/18/07 CADO GRAPHICS OST SINGLE LINE ARM, 25KV 

SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-6" VC6EC 



.... ~-

C~X§X~ ( 
~~ 

./.' 
I ,., : : 

©-

PLAN VIEW 

-
/'.' 

ID 
'/' 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL 
POSITION EXCEPT TO RISE TO A LIGHTNING 
ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN 
INSULATOR SUFFICIENT TO PROVIDE lWO 
FEET OF AIR CLEARANCE. 

3. ADD PIN INSULATOR SUPPORT FOR JUMPER 
CONDUCTORS AS NEEDED. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR 

DEADEND ATTACHMENTS SEPERARELY AS 
REQUIRED. 

---44" ___ ,_, __ 44• ---

Ti l!!I :e g•, 18" Bil I\ j~ r 
_1 I ~ o~==~o / ~ 

24" --------~,,. 

I POSITION OF GUY~ l>..<1 
WHEN REQUIRED ~ -..,. _ _ J 

72• 8 

g• - ·--~ 

~= 10 

2 Oll/04/fJ D. ICEL1al P'IC0SI' 

0 12/3/07 .... -

REVISED BY APPR 

PWC REVISIONS 

3 

FRONT VIEW 

ITEM 

2 
3 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 

PWC STOCK II 
1325760 
1100010 
1325005 
1325145 
1160026 
1325025 
1325080 
1325530 

1100530 
1325710 
1325733 
1325765 

16 0 

9 ~ A--
POSITION OF GUY~ ~l/, 
WHEN REQUIRED ~ 

"---0 

- NEUTRAL 
-

NEUTRAL 
~ 

....c 

SIDE VIEW 

PWC MATERIAL DESCRIPTION 
WASHER, SQUARE, CURVED, 3" 
CROSSARM, 8" WOOD 
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT 
SCREW, LAG, 1 /2" X 4" 
INSULATOR, 35 KV DEAD END, SILICONE POLYMER 
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 
BOLT, OVAf., EYE, 5/8" X 12" 
NUT, EYE, GAf.V, 5/8" 
CLAMP, Af.. STRAIGHT D.E. (AS REQUIRED) 
CLAMP, Af.. STRAIGHT D.E. (AS REQUIRED) 
BRACE, CROSSARM, WOOD, 38" X 18" 
WASHER, FLAT, ROUND, 3/8" 
WASHER DOUBLE COIL SPRING LOCK 5/8" 
WASHER SQUARE FLAT 5/8" 

11 

QTY. 

2 
4 
2 
3 
3 

3 
3 

2 
4 
11 
10 

2 CROSSARM CONSTRUCTION THREE-PHASE 
TAP ARM, 25KV 

IIEIICIRICDIS 
O 1/18/07 ._ - osr SCALE DWG. 

REVISED BY APPR. 1;2·=1•-5• VC7-2EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VC7-2EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-6"

AutoCAD SHX Text
CROSSARM CONSTRUCTION THREE-PHASE

AutoCAD SHX Text
TAP ARM, 25KV

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
1/18/07

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN

AutoCAD SHX Text
POSITION EXCEPT TO RISE TO A LIGHTNING

AutoCAD SHX Text
INSULATOR SUFFICIENT TO PROVIDE TWO

AutoCAD SHX Text
2

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
3

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
4"

AutoCAD SHX Text
44"

AutoCAD SHX Text
44"

AutoCAD SHX Text
4"

AutoCAD SHX Text
24"

AutoCAD SHX Text
72"

AutoCAD SHX Text
9"

AutoCAD SHX Text
11

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
10

AutoCAD SHX Text
9"

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
18"

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
FEET OF AIR CLEARANCE.

AutoCAD SHX Text
3. ADD PIN INSULATOR SUPPORT FOR JUMPER

AutoCAD SHX Text
CONDUCTORS AS NEEDED.

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
1

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12"

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
3

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
-

AutoCAD SHX Text
3

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
DEADEND ATTACHMENTS SEPERARELY AS 

AutoCAD SHX Text
REQUIRED.

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



- - -

0 0 NOTES: ---
1. GROUNDS ARE TO STOP AT THE NEUTRAL 

~~ POSITION EXCEPT TO RISE TO A LIGHTNING 

C~X§X~ ~ 
ARRESTER OR TRANSFORMER. 

-64" 2. ALL GUYS MUST CONTAIN A GUY STRAIN 
./.' /.' 
I ,., : : I ID INSULATOR SUFFICIENT TO PROVIDE TWO 

FEET OF AIR CLEARANCE. 

3. ADD PIN INSULATOR SUPPORT FOR JUMPER 

©- (: 
CONDUCTORS AS NEEDED. 

f--o 0 

PWC CONSTRUCTION NOTES: 

/ 1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR 
DEADEND ATTACHMENTS SEPERARELY AS 
REQUIRED. -~ ~ 

PLAN VIEW 

4"- 44• I 44• 1-4• 

Ti Im 

I\ 
◄-=ZS ( 

e 18" j~ ( 'z; .. V 
/ g•, 121 s:, 

-1 I 0 \ -121 0 /1 1 ,. .. 
"---- ~~ 
~ 

. 

* \ 24" 
POSITION OF GU~ l) I ~ J -9" 
WHEN REQUIRED ~ 

16 I 0 6-- 0 I 
--- I 

72• 8 9 ~*~ 
12 

POSITION OF 
WHEN REQUIR 

11 _, ~ 

·--~ -~ -g• -
NEUTRAL ~= '¥e, 

10 

.....c 

FRONT VIEW SIDE VIEW 

PN.# ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1325760 WASHER, SQUARE, CURVED, 3" 1 
2 1100010 CROSSARM, 8" WOOD 2 
3 1325155 BOLT, MACHINE, 1 /2" X 6" w/NUT 4 
4 1325145 SCREW, LAG, 1 /2" X 4" 2 
5 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 3 
6 1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
7 1325080 BOLT, OVAL, EYE, 5/8" X 12" 1 
8 1325530 NUT, EYE, GALV, 5/8" 3 

2 08/115/'lJ •-- - 9 CLAMP, AL. STRAIGHT D.E. (AS REQUIRED) 3 

1 •t=a 
10 CLAMP, AL. STRAIGHT D.E. (AS REQUIRED) 1 - - 11 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 2 

0 0/115/13 AL - 12 1325735 WASHER, SPLIT RING LOCK, 1 /2" 4 
REVISED BY APPR 13 1325733 WASHER DOUBLE COIL SPRING LOCK 5/8" 11 

PWC REVISIONS 14 1325765 WASHER. SQUARE FLAT 5/8" 10 
3 

2 CROSSARM CONSTRUCTION THREE-PHASE PN.# 
1 

0 1/19/12 ""' osr TAP ARM, LARGE CONDUCTOR 25KV 
SCALE>~ 

DWG. 

REVISED BY APPR. 1/2"=1'-6 VC7-2S 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-6"

AutoCAD SHX Text
1/19/12

AutoCAD SHX Text
WJJ

AutoCAD SHX Text
OST

AutoCAD SHX Text
VC7-2S

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
O

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN

AutoCAD SHX Text
POSITION EXCEPT TO RISE TO A LIGHTNING

AutoCAD SHX Text
INSULATOR SUFFICIENT TO PROVIDE TWO

AutoCAD SHX Text
2

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
3

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
4"

AutoCAD SHX Text
44"

AutoCAD SHX Text
44"

AutoCAD SHX Text
4"

AutoCAD SHX Text
24"

AutoCAD SHX Text
72"

AutoCAD SHX Text
9"

AutoCAD SHX Text
11

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
9"

AutoCAD SHX Text
10

AutoCAD SHX Text
9"

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
18"

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
FEET OF AIR CLEARANCE.

AutoCAD SHX Text
3. ADD PIN INSULATOR SUPPORT FOR JUMPER

AutoCAD SHX Text
CONDUCTORS AS NEEDED.

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
DEADEND ATTACHMENTS SEPERARELY AS 

AutoCAD SHX Text
REQUIRED.

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
1

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325155

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, MACHINE, 1/2" X 6" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1325080

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12"

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
3

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
-

AutoCAD SHX Text
3

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1100532

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 60" X 30"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325735

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SPLIT-RING LOCK, 1/2"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
CROSSARM CONSTRUCTION THREE-PHASE

AutoCAD SHX Text
TAP ARM, LARGE CONDUCTOR 25KV

AutoCAD SHX Text
64"

AutoCAD SHX Text
5/08/13

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



... ~ ... 
I ii I !! . ii I ! 

@< (II >-@ ~ ©-
II 
II 
II 
II 

I II 
= 

ii 
= 

II I 
@I ©-- ~ 

-
I 

©---i 

I 

~ i !» ~ 

PLAN VIEW 

1 ··1r•2· I 42•7··1 
r7 

I ~ I • ~ '\ ~I I 
9• 

'¾ 6~ I 2 ~D 1 7 
so· 11 II 

II 
II 

4 ~ POSITION OF GUY II 

r 7 • 
~ X 6-.x 

L,C"0'.z) f-NEUTRAL 

FRONT VIEW SECTION X-X 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING 
ARRESTER OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE lWO FEET 
OF AIR CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

PN:, ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1325760 WASHER, SQUARE, CURVED, 3" 1 
2 1100010 CROSSARM, 8" WOOD 2 
3 1325005 BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT 4 
4 1325145 SCREW, LAG, 1 /2" X 4" 2 
5 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 3 
6 1325025 BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT 3 
7 1325080 BOLT, OVAL, EYE, 5/8" X 12" 1 
8 1325530 NUT, EYE, GALV, 5/8" 3 

2 Oll/04/fJ D.ICEIJQI - 9 - CLAMP, AL. STRAIGHT D.E. (AS REQUIRED) 3 

1 9/21'20 - - 10 CLAMP, AL. STRAIGHT D.E. (AS REQUIRED) 1 

0 12/3/a7 JU. - 11 1100530 BRACE, CROSSARM, WOOD, 38" X 18" 2 
12 1325710 WASHER, FLAT, ROUND, 3/8" 4 

REVISED BY APPR 13 1325733 WASHER DOUBLE COIL SPRING LOCK 5/8" 11 
PWC REVISIONS 14 1325765 WASHER SQUARE FLAT 5/8" 10 

3 
2 
1 

CROSSARM CONSTRUCTION. THREE IIEIICIRICDIS 
0 2/1/04 

.__ osr PHASE. DEADEND. 25KV SCALE I DWG. 

REVISED BY APPR. 1/2"=1'-0" VC7EC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VC7EC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
2/1/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
CROSSARM CONSTRUCTION, THREE

AutoCAD SHX Text
PHASE, DEADEND, 25KV

AutoCAD SHX Text
6

AutoCAD SHX Text
9

AutoCAD SHX Text
5

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
80"

AutoCAD SHX Text
4

AutoCAD SHX Text
11

AutoCAD SHX Text
6"

AutoCAD SHX Text
9"

AutoCAD SHX Text
9"

AutoCAD SHX Text
42"

AutoCAD SHX Text
8

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
42"

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
NEUTRAL

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
6"

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING

AutoCAD SHX Text
OF AIR CLEARANCE.

AutoCAD SHX Text
ARRESTER OR TRANSFORMER.

AutoCAD SHX Text
3

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325760

AutoCAD SHX Text
1

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
2

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
3

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
4

AutoCAD SHX Text
1325145

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
5

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
1325530

AutoCAD SHX Text
3

AutoCAD SHX Text
NUT, EYE, GALV, 5/8"

AutoCAD SHX Text
9

AutoCAD SHX Text
-

AutoCAD SHX Text
3

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325733

AutoCAD SHX Text
11

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
14

AutoCAD SHX Text
1325080

AutoCAD SHX Text
BOLT, OVAL, EYE, 5/8" X 12"

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



3 

.~ 4"f ---- =~XiX~ 
~ 

fi> 
-

g• 

s·---..._ - - 121 ~ ~=== I 
~ ---~ ~ 

-- ~ ~ ~=== I 

g• HiXiX~) L 1\ 
,-posmoN OF GUY 

WHEN REQUIRED 

so· 

~ 
~ --- - === ► 

-....c: i_..c 

FRONT VIEW SIDE VIEW 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

PN:, ITEM PWC STOCK II PWC MATERIAL DESCRIPTION QTY. 
1 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 3 
2 1100023 CROSSARM 60 INCH STEEL 1 
3 - CLAMP AL. STRAIGHT D.E. (AS REQUIRED) 3 

2 01/06/23 D.mn>N PWCOSr 4 - CLAMP AL STRAIGHT D.E. (AS REQUIRED) 1 

1 l/2020 - PWCOSr 5 1325180 BOLT. MACHINE 5/8" X 12" w/NUT 2 

0 12/3/07 
6 1325080 BOLT. OVAL EYE, 5/8" X 12", w/NUT 4 ... PWCOSr 

WASHER SQUARE CURVED 3" 7 1325760 3 
REVISED BY APPR 8 1325733 WASHER DOUBLE COIL SPRING LOCK 5/8" 6 

PWC REVISIONS 

3 

2 IIEIICIRICDIS 
1 STEEL ARM THREE PHASE DEADEND, 25KV 
0 2/10/06 C,11)1) GRN'HCS osr SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· VC7SEC 

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
1

AutoCAD SHX Text
VC7SEC

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
O

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
STEEL ARM THREE PHASE DEADEND, 25KV

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
2/10/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 

AutoCAD SHX Text
OR TRANSFORMER.

AutoCAD SHX Text
CLEARANCE.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
8"

AutoCAD SHX Text
9"

AutoCAD SHX Text
4"

AutoCAD SHX Text
80"

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
9"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
7

AutoCAD SHX Text
1325760

AutoCAD SHX Text
3

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
1325080

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 12", w/NUT

AutoCAD SHX Text
3

AutoCAD SHX Text
-

AutoCAD SHX Text
3

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
1325733

AutoCAD SHX Text
6

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
2

AutoCAD SHX Text
1100023

AutoCAD SHX Text
1

AutoCAD SHX Text
CROSSARM, 60-INCH, STEEL

AutoCAD SHX Text
1325180

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12", w/NUT

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



1-n=-i------42•-----ji-----

so· 

NOTES: 

POSmON OF GUY 
WHEN REQUIRED 

SECTION X-X 

= 
FRONT VIEW 

9 

20 

Zl 

PLAN VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE lWO FEET OF AIR CLEARANCE. 
PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 1----- ITEM PWC STOCK PWC MATERIAL DESCRIPTION QTY. 

0 12/3/117 JU. -

REVISED BY APPR 

PWC REVISIONS 

3 

2 

0 11/10/05 ............. osr 

REVISED BY APPR. 

1 1325180 
2 1325760 
3 1100010 
4 1160026 
5 1325025 
6 1325085 
7 1075245 
8 1325535 
9 
10 
11 1100530 
12 1325733 
13 1160065 
14 1100568 
15 1325005 
16 1325710 
17 1100562 
18 1325145 
19 1325765 
20 1065010 

BOLT, MACHINE, 5 8" X 12", w NUT 
WASHER, SQUARE, CURVED, 3" 
CROSSARM, 8" WOOD 
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 
BOLT, DOUBLE ARMING, 5 8" X 20", w NUT 
BOLT, OVAL EYE, 5 8" X 14" 
CONNECTOR PRL GRVE. COMP., 1 7 
NUT, SQUARE, 5 8" 
CLAMP, Al. STRAIGHT D.E. AS REQUIRED 
CLAMP, Al. STRAIGHT D.E. AS REQUIRED 
BRACE, CROSSARM, WOOD, 38" X 18" 
WASHER DOUBLE COi SPRING LOCK 5 8" 
INSULATOR, PIN-TYPE, ANSI 55-6 
PIN, POLE TOP, 20" 
BOLT, CARRAGE, 3 8" X 4-1 2• w NUT 
WASHER, FLAT, ROUND, 3 8" 
PIN, CROSSARM, 1 ", LONG SHANK w NUT 
SCREW, LAG, 1 2• X 4" 
WASHER, SQUARE, FLAT, 5 8" 
TIE WIRE 4 SOLID ALUMINUM 

CROSSARM CONSTRUCTION 
THREE PHASE, DOUBLE DEADEND, 25KV 

2 
4 
2 
6 
3 
1 

7 
6 
2 
2 
14 
5 

4 
4 
4 
2 
10 
24 

IIEIICIRICDIS 
SCALE DWG. 

1;2·=1·-0· VCB-1 EC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VC8-1EC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
11/10/05

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE.

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
CROSSARM CONSTRUCTION

AutoCAD SHX Text
THREE PHASE, DOUBLE DEADEND, 25KV

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
9

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
12

AutoCAD SHX Text
X

AutoCAD SHX Text
80"

AutoCAD SHX Text
8

AutoCAD SHX Text
10

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
11

AutoCAD SHX Text
2

AutoCAD SHX Text
12

AutoCAD SHX Text
42"

AutoCAD SHX Text
19

AutoCAD SHX Text
6

AutoCAD SHX Text
X

AutoCAD SHX Text
9"

AutoCAD SHX Text
18

AutoCAD SHX Text
12

AutoCAD SHX Text
5

AutoCAD SHX Text
8"

AutoCAD SHX Text
1

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
8

AutoCAD SHX Text
17

AutoCAD SHX Text
42"

AutoCAD SHX Text
6"

AutoCAD SHX Text
5

AutoCAD SHX Text
12

AutoCAD SHX Text
19

AutoCAD SHX Text
4"

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
18"

AutoCAD SHX Text
6"

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
9

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325180

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12", w/NUT

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
3

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
15

AutoCAD SHX Text
1325005

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, CARRAGE, 3/8" X 4-1/2" w/NUT

AutoCAD SHX Text
14

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
9

AutoCAD SHX Text
-

AutoCAD SHX Text
6

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
10

AutoCAD SHX Text
2

AutoCAD SHX Text
11

AutoCAD SHX Text
1100530

AutoCAD SHX Text
2

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 38" X 18"

AutoCAD SHX Text
13

AutoCAD SHX Text
1100568

AutoCAD SHX Text
5

AutoCAD SHX Text
PIN, POLE TOP, 20"

AutoCAD SHX Text
12

AutoCAD SHX Text
1325733

AutoCAD SHX Text
14

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, DOUBLE COIL, SPRING LOCK, 5/8"

AutoCAD SHX Text
6

AutoCAD SHX Text
1325085

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14"

AutoCAD SHX Text
7

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
CONNECTOR PRL. GRVE. COMP., #1/7

AutoCAD SHX Text
8

AutoCAD SHX Text
1325535

AutoCAD SHX Text
7

AutoCAD SHX Text
NUT, SQUARE, 5/8"

AutoCAD SHX Text
17

AutoCAD SHX Text
1100562

AutoCAD SHX Text
4

AutoCAD SHX Text
PIN, CROSSARM, 1", LONG SHANK w/NUT

AutoCAD SHX Text
16

AutoCAD SHX Text
1325710

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 3/8"

AutoCAD SHX Text
18

AutoCAD SHX Text
1160065

AutoCAD SHX Text
2

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6

AutoCAD SHX Text
2

AutoCAD SHX Text
1325760

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
1325145

AutoCAD SHX Text
SCREW, LAG, 1/2" X 4"

AutoCAD SHX Text
19

AutoCAD SHX Text
10

AutoCAD SHX Text
1325765

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1065010

AutoCAD SHX Text
24

AutoCAD SHX Text
TIE WIRE, #4 SOLID ALUMINUM

AutoCAD SHX Text
20

AutoCAD SHX Text
20

AutoCAD SHX Text
20

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



--6'~42" 

3 14 20 

✓ 21 

$ ---

~-~t~ 
16 

WHEN REQUIRED 

t°'--7 
X re X 

~-----------+.Ah...= 

©:7)-/ 
,---.--..- I 

L....<--

FRONT VIEW 

~~ 
~(!!✓ 

II) 'I 
7 l--~,o11:,~ 

Jr-' 

NOTES: 
SECTION X-X 

I 

f-----0 

Pl 

6 I 

!! 0 

fK~~) 
ii 0 

PLAN VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 
PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 
~ ITEM PWC STOCK IJ PWC MATERIAL DESCRIPTION 

• :cc:; 1 1325155 BOLT, MACHINE, 1/2" X 6", w/NUT 

2 08/05/2:! 

1 f/2020 -. PWCOSr 

0 12/3/07 JU. PWCOSf 

REVISED BY APPR 

PWC REVISIONS 

3 

2 

0 11/10/05 CM» - osr 

REVISED BY APPR. 

2 1325735 WASHER, SPLIT RING, LOCK, 1/2" 
3 1325760 WASHER, SQUARE, CURVED, 3" 
4 1100010 CROSSARM, 6" WOOD 
5 1160026 INSULATOR, 35 KV DEAD END, SILICONE POLYMER 
6 1325025 BOLT, DOUBLE ARMING, 5/6" X 20", w/NUT 
7 1325065 BOLT, OVAL EYE, 5/6" X 14" 
6 1075245 CONNECTOR PRL GRVE. COMP., #1/7 
9 1325535 NUT, SQUARE, 5/6" 
10 - CLAMP, Al. STRAIGHT D.E. (AS REQUIRED) 
11 CLAMP, Al. STRAIGHT D.E. (AS REQUIRED) 
12 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 
13 1325715 WASHER FLAT ROUND 1 /2" 
14 1325740 WASHER. LOCK 5/6" 
15 1160065 INSULATOR, PIN-lYPE, ANSI 55-6 
16 1100566 PIN, POLE TOP, 20" 
17 1325020 BOLT, DOUBLE ARMING, 5/6" X 16", w/NUT 
16 1100562 PIN, CROSSARM, 1", LONG SHANK w/NUT 
19 1325765 WASHER, SQUARE, FLAT, 5/6" 
20 1325160 BOLT, MACHINE, 5/6" X 12", w/NUT 
21 1065010 TIE WIRE #4 SOLID ALUMINUM 

CROSSARM CONSTRUCTION, 
THREE PHASE, LARGE CONDUCTOR 

DOUBLE DEADEND, 25KV 

QlY • 
4 
4 
4 
2 
6 
3 

6 
6 
2 
4 
4 

15 
5 

4 
10 
2 
24 

IIEIICIRICDIS 
SCALE I DWG. 

1;2·=1·-0· VC8-1SEC 

AutoCAD SHX Text
DWG.

AutoCAD SHX Text
VC8-1SEC

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
1/2"=1'-0"

AutoCAD SHX Text
11/10/05

AutoCAD SHX Text
CADD GRAPHICS

AutoCAD SHX Text
OST

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TRANSFORMER.

AutoCAD SHX Text
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE.

AutoCAD SHX Text
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR

AutoCAD SHX Text
POSITION OF GUY

AutoCAD SHX Text
WHEN REQUIRED

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
4

AutoCAD SHX Text
20

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
19

AutoCAD SHX Text
14

AutoCAD SHX Text
7

AutoCAD SHX Text
14

AutoCAD SHX Text
3

AutoCAD SHX Text
10

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
17

AutoCAD SHX Text
14

AutoCAD SHX Text
6

AutoCAD SHX Text
14

AutoCAD SHX Text
19

AutoCAD SHX Text
9

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
14

AutoCAD SHX Text
11

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
5

AutoCAD SHX Text
19

AutoCAD SHX Text
14

AutoCAD SHX Text
18

AutoCAD SHX Text
80"

AutoCAD SHX Text
42"

AutoCAD SHX Text
9"

AutoCAD SHX Text
42"

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
SECTION X-X

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
CROSSARM CONSTRUCTION,

AutoCAD SHX Text
THREE PHASE, LARGE CONDUCTOR

AutoCAD SHX Text
DOUBLE DEADEND, 25KV

AutoCAD SHX Text
6

AutoCAD SHX Text
8

AutoCAD SHX Text
18"

AutoCAD SHX Text
4"

AutoCAD SHX Text
8"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
1

AutoCAD SHX Text
O

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR.

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
6

AutoCAD SHX Text
PWC REVISIONS

AutoCAD SHX Text
REVISED

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PWC STOCK #

AutoCAD SHX Text
PWC MATERIAL DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1325155

AutoCAD SHX Text
4

AutoCAD SHX Text
BOLT, MACHINE, 1/2" X 6", w/NUT

AutoCAD SHX Text
BY

AutoCAD SHX Text
APPR

AutoCAD SHX Text
4

AutoCAD SHX Text
1100010

AutoCAD SHX Text
2

AutoCAD SHX Text
CROSSARM, 8" WOOD

AutoCAD SHX Text
16

AutoCAD SHX Text
1325020

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 18", w/NUT

AutoCAD SHX Text
15

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
1325025

AutoCAD SHX Text
3

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 5/8" X 20", w/NUT

AutoCAD SHX Text
10

AutoCAD SHX Text
-

AutoCAD SHX Text
6

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
11

AutoCAD SHX Text
2

AutoCAD SHX Text
12

AutoCAD SHX Text
1100532

AutoCAD SHX Text
4

AutoCAD SHX Text
BRACE, CROSSARM, WOOD, 60" X 30"

AutoCAD SHX Text
14

AutoCAD SHX Text
1100568

AutoCAD SHX Text
5

AutoCAD SHX Text
PIN, POLE TOP, 20"

AutoCAD SHX Text
13

AutoCAD SHX Text
1325740

AutoCAD SHX Text
15

AutoCAD SHX Text
-

AutoCAD SHX Text
CLAMP, AL. STRAIGHT D.E. (AS REQUIRED)

AutoCAD SHX Text
WASHER, LOCK, 5/8"

AutoCAD SHX Text
7

AutoCAD SHX Text
1325085

AutoCAD SHX Text
1

AutoCAD SHX Text
BOLT, OVAL EYE, 5/8" X 14"

AutoCAD SHX Text
8

AutoCAD SHX Text
1075245

AutoCAD SHX Text
1

AutoCAD SHX Text
CONNECTOR PRL. GRVE. COMP., #1/7

AutoCAD SHX Text
9

AutoCAD SHX Text
1325535

AutoCAD SHX Text
6

AutoCAD SHX Text
NUT, SQUARE, 5/8"

AutoCAD SHX Text
18

AutoCAD SHX Text
1325765

AutoCAD SHX Text
10

AutoCAD SHX Text
WASHER, SQUARE, FLAT, 5/8"

AutoCAD SHX Text
17

AutoCAD SHX Text
1100562

AutoCAD SHX Text
4

AutoCAD SHX Text
PIN, CROSSARM, 1", LONG SHANK w/NUT

AutoCAD SHX Text
19

AutoCAD SHX Text
1160065

AutoCAD SHX Text
INSULATOR, PIN-TYPE, ANSI 55-6

AutoCAD SHX Text
3

AutoCAD SHX Text
1325760

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SQUARE, CURVED, 3"

AutoCAD SHX Text
2

AutoCAD SHX Text
1325735

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, SPLIT RING, LOCK, 1/2"

AutoCAD SHX Text
1325715

AutoCAD SHX Text
4

AutoCAD SHX Text
WASHER, FLAT, ROUND, 1/2"

AutoCAD SHX Text
1325180

AutoCAD SHX Text
2

AutoCAD SHX Text
20

AutoCAD SHX Text
BOLT, MACHINE, 5/8" X 12", w/NUT

AutoCAD SHX Text
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED.

AutoCAD SHX Text
PWC CONSTRUCTION NOTES:

AutoCAD SHX Text
O

AutoCAD SHX Text
12/3/07

AutoCAD SHX Text
JLL

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1065010

AutoCAD SHX Text
24

AutoCAD SHX Text
TIE WIRE, #4 SOLID ALUMINUM

AutoCAD SHX Text
21

AutoCAD SHX Text
21

AutoCAD SHX Text
21

AutoCAD SHX Text
1

AutoCAD SHX Text
6/2020

AutoCAD SHX Text
WRW3

AutoCAD SHX Text
PWCOST

AutoCAD SHX Text
1160026

AutoCAD SHX Text
INSULATOR, 35 KV DEAD-END, SILICONE POLYMER

AutoCAD SHX Text
2

AutoCAD SHX Text
06/05/23

AutoCAD SHX Text
D. KELTON

AutoCAD SHX Text
PWCOST



~ I ~ ~ 
/ 

.. ~ 
~~ 

~ .. ► : [' ~ : .. ► : ~ .. ► ► : : : tCA_,7 
X r'C X 

~----------+~ -
I/"""""/-

@@-/ 
L..,<--~-7 13 1------,,-.... I 

1213 (iili 
J ...-, 
u SECTION X-X -----

FRONT VIEW 

... .. ► 

~ 
► : . ~~ : 

I I 
~D)) (« ~ n I 

:. ~ ~ ~ : ... 
~E 

► 

: = : ... ► 

: = 
.. ► : : E ► ... .. ► ► 

~ 
~~ 

PLAN VIEW ~ 

~ 
NOTES: 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER OR 

TRANSFORMER. 
2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR CLEARANCE. 
PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, JUMPERS AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPARATELY AS REQUIRED. 

2. RECOMMEND USING 72" SPACING BETWEEN TOP CROSSARM MOUNTING BOLT AND NEUTRAL INSULATOR 
WHEN PRIMARY DIP IS PRESENT ON POLE. 

ITEM PWC STOCK # PWC MATERIAL DESCRIPTION 
1 1160073 INSULATOR, LINE POST, TIE-TOP, 35 KV 
2 1100538 STUD, INSULATOR, LONG 
3 1100024 CROSSARM, STEEL DEAD END, 88" 
4 1325225 BOLT, MACHINE, 3/4" X 18" w/ NUT 
5 1325210 BOLT, MACHINE, 3/4" X 12" w/ NUT 
6 1325165 BOLT, MACHINE, 5/8" X 7" w/ NUT 
7 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 
8 1325720 WASHER, FLAT ROUND, 5/8" 
9 1325780 WASHER, SQUARE/CURVED, 4" 
10 1325734 WASHER, DOUBLE COIL, SPRING LOCK, 3/4" 
11 1325725 WASHER, FLAT ROUND, 3/4" 
12 1325085 BOLT, OVAL EYE, 5/8" X 14" 
13 1325760 WASHER, SQUARE/CURVED, 3" 
14 1325525 NUT EYE GALV 5/8" 
15 1325535 NUT, SQUARE, 5/8" 
16 1325530 NUT, EYE, GALV, 3/4" 
17 1325540 NUT, SQUARE, 3/4" 
18 1325610 EYELET, 5/8" - 3/4", 10,000# 
19 1160026 INSULATOR, 35 KV DEAD-END, SILICONE POLYMER 

0 5/5/?IW JEIC - 20 1160065 INSULATOR, PIN TYPE, ANSI 55 6 
21 1100568 PIN, POLE TOP, 20" X 1" 

REVISED BY 

PWC REVISIONS 

3 

2 

1 

0 

APPR 22 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 
23 1065010 WIRE, TIE, 114 SOLID ALUMINUM 

STEEL CROSSARM CONSTRUCTION THREE PHASE 
DOUBLE DEADEND W/ FEED THRU 

QTY. 
2 
2 

2 
2 
5 
4 
3 
3 
3 

4 
3 
4 

3 
6 

2 
12 

REVISED BY APPR. 
25KV SCALE I DWG. 

1/2"=1'-o" VC8-1 SSTL 



~ / NEUlRAL 

~ '/J) 
I 
I 

~ 
,,.. 

" ,,,-: " ,,.. 

~ 
~') ?(~ ~-) II ( (( D)) 0 (« II 

/ ~ '- V ~; V ' ~ 

PLAN VIEW 

-4"' 37" I 19•1~-~7" 14• -
I I -@ 

$ $ I I - ~ 9• ~ 
ii ii ii +- ~ ~ II II ii 
II II II II II II . 

ev/~ 
V . . 

I 

-\ ~· •• 8 

~ I\__ POSITION OF GUY 
WHEN REQUIRED 

-...A~ PWC DESIGN LIMITS 
':..= CONDUCTOR MAX ANGLE 

FRONT VIEW 
/12 ACSR 1 s· 

#1/0 AMC 12· 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6, 25 KV 3 
2 1325155 BOLT, MACHINE, 1 /2" X 6", w/NUT 2 
3 1325190 BOLT, MACHINE, GALV., 5/8" X 16", w/NUT 1 
4 1325735 WASHER, SPLIT RING, LOCK, 1 /2" 2 
5 1325760 WASHER, SQUARE, CURVED, 3" 1 
6 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 4 
7 1100015 CROSSARM, 1 o• WOOD 1 
8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 2 

3 6/2020 WRW3 PWC0ST 9 1325715 WASHER, FLAT, ROUND, 1 /2" 2 

2 09/21/09 JU. PWC0ST 10 1325740 WASHER, LOCK, 5/8" 2 

1 08/12/08 JU. PWC0ST 
11 1075245 CONNECTOR, PRL. GRVE. COMP., #1/7 1 

0 JU. 
12 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 

12/3/07 PWCOST 
13 1325765 WASHER, SQUARE, FLAT, 5/8" 1 

REVISED BY APPR 14 1065010 TIE WIRE /14 SOLID ALUMINUM 32 
PWC REVISIONS 15 1160040 INSIII l>.Tnl~ PIN -TYPE ANC:I 55 4 1 " GROOVE. 1 5 KV 1 

3 

2 

1 
CROSSARM CONSTRUCTION, THREE PHASE II ELECIHICITIS 

0 2/1/05 CADO GRAPHICS OST NEUTRAL ON SINGLE ARM, 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC9-1EC 



~ / NEUlRAL 

~ ~ I 
I 

~ ' 
,,.. 
" 

,,..,, / 

~ 
~') ~ (« ) :: ( « ) 0 (J 
/ 

~ 
'- ..... 

~\ 
..... '-

v---® 
PLAN VIEW 

-4"i 37" I 19•1~,~7" ~ 
-

I ~ 
$ ~ rr1 '"-.:;:Jr 

ii +- @] / II 
II II 

• 

~ 
V . • 

9 

-\ 
••• 8 . 

~ 
@-' I\__ POSITION OF GUY 

WHEN REQUIRED 

PWC DESIGN LIMITS 

----< CONDUCTOR MAX ANGLE 

= #336 ACSR 11· 

/1477 MC 10-

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER OR 
TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

~ ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN TYPE, ANSI 55 6, 25 KV 3 
2 1325155 BOLT, MACHINE, 1 /2" X 6", w/NUT 2 
3 1325190 BOLT, MACHINE, GALV., 5/8" X 16", w/NUT 1 
4 1325715 WASHER, FLAT, ROUND, 1 /2" 2 
5 1325760 WASHER, SQUARE, CURVED, 3" 1 
6 1100562 PIN, CROSSARM, SADDLE, 1" X 6" 4 
7 1100015 CROSSARM, 1 O" WOOD 1 
8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 2 

3 6/2020 WRW3 PWCOST 9 1325735 WASHER, SPLIT RING, LOCK, 1 /2" 2 

2 09/21/0! Jll PWCOST 
10 1325740 WASHER, LOCK, 5/8" 2 
11 1075245 CONNECTOR, PRL. GRVE. COMP., #1/7 1 

1 08/12/0! Jll PWCOST 12 1325180 BOLT, MACHINE, 5/8" X 12", w/NUT 1 
0 12/3/07 Jll PWCOST 13 1325765 WASHER, SQUARE, FLAT, 5/8" 1 
REVISED BY APPR 14 1065010 TIE WIRE 114 SOLID ALUMINUM 32 

PWC REVISIONS 15 1160040 INSULATOR PIN-TYPE ANSI 55-4 1" GROOVE. 15 KV 1 
3 
2 CROSSARM CONSTRUCTION II ELECIHICITIS 
1 THREE PHASE, LARGE CONDUCTOR 
0 2/1/05 CADO GRAPHICS OST NEUTRAL ON SINGLE ARM 25KV SCALE I DWG. 
REVISED BY APPR. 1;2·=1·-0· VC9-1 SEC 



b -NEUTRAL 

/ [:",. ~/' _ ;.... / 

~ ~ D) ( (( D)l ( ( ~) (« 
V '- / 

~ V @/ 
PLAN VIEW 

I 
108" TO LOWEST 

BOLT OF 
TRANSMISSION 1r,.. I 18" & 18" ,..~,_ 

! nm ~~~ II 

0 0 I· . 0 0 I - - lloU -

li +-;:: 

~ POSmON OF GUY 
WHEN REQUIRED 

-...,,c 
PWC DESIGN LIMITS 

FRONT VIEW CONDUCTOR MAX ANGLE 
1#336 ACSR 11. 

#477 AAC 10· 

NOTES: 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

4. 1 O' FIBERGLASS ARM IS STANDARD CONSTRUCTION FOR DISTRIBUTION UNDERBUILD ON STEEL POLES. 

pMt: ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 3 
2 1325190 BOLT, MACHINE, GALV., 5/8" X 16" w/NUT 2 
3 1325760 WASHER, SQUARE, CURVED, 3" 3 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 4 
5 1100017 CROSSARM, 10 FOOT, FBGL. REIN. COMPOSITE 1 

11 /202( WRW3 PWCOST 6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 3 

0 2/12 
10 1065010 TIE WIRE 114 SOLID ALUMINUM 24 

JLL PWCOST 11 1160040 INSULATOR, 1" GROOVE, 15KV 1 
REVISED BY APPR 

PWC REVISIONS 

3 

2 UNDERBUILD FBG. CROSSARM CONSTRUCTION .Pl'lt:: 
1 THREE PHASE, LARGE CONDUCTOR 
0 CENTER PHASE AND NEUTRAL ON ARM, 25KV SCALE I~ DWG. 
REVISED BY APPR. 1/2"=1'-o VC9-1SFBG 



r 30" ,.-~,.- 30" ,l ~ l / 3 2 

:.-- " " ' / 

C « 0) ;, (~ 0)) ( ~ ~) II ((( a □ 
'- V '- / 

0 
'- ~ 

[:",. /'. " / 

~□ Ci~ D) !! ( (( D)l ( ~ ~) II (« 
" V " '- / 

~ 
" V @/ -NEUTRAL 

PLAN VIEW 

I 
108" TO LOWEST 

BOLT OF 
TRANSMISSION 1r,.. I 18" & 18" ~,.-~~1 ! nm ~~ II 

@] @] I· ·I @] @] I - - lloU - -

li +-;:: 

~ POSmON OF GUY 
WHEN REQUIRED 

-...,,c 
PWC DESIGN LIMITS 

FRONT VIEW 
CONDUCTOR MAX ANGLE 
/1336 ACSR 11' 
#477 AAC 10' 

NOTES: 
1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTING ARRESTER 

OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

3. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

4. 1 O' FIBERGLASS ARM IS STANDARD CONSTRUCTION FOR DISTRIBUTION UNDERBUILD ON STEEL POLES. 

pMt: ITEM PWC STOCK # PWC MATERIAL DESCRIPTION QTY. 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6 6 
2 1325025 BOLT, DOUBLE ARMING, 5/8" X 20" w/NUT 5 
3 1325765 WASHER, SQUARE, FLAT, 5/8" 16 
4 1100562 PIN, CROSSARM, 1 ", LONG SHANK w/NUT 8 
5 1100017 CROSSARM, 10 FOOT, FBGL. REIN. COMPOSITE 2 

0 6/20 WRW3 PWCOST 6 1325733 WASHER, DOUBLE COIL, SPRING LOCK, 5/8" 6 

0 2/12 
10 1065010 TIE WIRE 114 SOLID ALUMINUM 48 

JLL PWCOST 11 1160040 INSULATOR, 1" GROOVE, 15KV 2 
REVISED BY APPR 

PWC REVISIONS 

3 UNDERBUILD FBG. DOUBLE CROSSARM 
2 

CONSTRUCTION .Pl'lt:: 
1 

0 THREE PHASE, LARGE CONDUCTOR 
SCALE I~ DWG. 

REVISED BY APPR. CENTER PHASE & NEUTRAL ON ARM, 25KV 1/2"=1'-o VC9-2SFBG 



3 

2 
1 

0 

PLAN VIEW 

13 
NEUTRAL 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

NOTES: 
FRONT VIEW 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

30" 
25• 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1160065 INSULATOR, PIN-lYPE, ANSI 55-6, 25 KV 
2 1325155 BOLT, MACHINE, 1 2" X 6", w NUT 
3 1325735 WASHER, SPLIT RING, LOCK, 1 2" 
4 1325765 WASHER, SQUARE, FLAT, 5 8" 
5 1100562 PIN, CROSSARM, 1 ", LONG SHANK w NUT 
6 1100015 CROSSARM, 1 O" WOOD 

6/2020 WRWJ PWCOST 
7 1325025 BOLT, DOUBLE ARMING, 5 8" X 20", w NUT 
8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 

09/21/09 JU. PWCOST 9 1325715 WASHER, FLAT, ROUND, 1 2" 
8/12/08 JU. PWCOST 10 1325740 WASHER, LOCK, 5 8" 

12/3/07 JU. PWCOST 11 1325020 BOLT, DOUBLE ARMING, 5 8" X 18", w NUT 
12 1075245 1 7 

REVISED BY APPR 
CONNECTOR, PRL. GRVE. COMP., 

13 1065010 TIE WIRE 4 SOLID ALUMINUM 
PWC REVISIONS 14 1160040 INSULATOR PIN-lYPE ANSI 55-4 1" GROOVE 15 KV 

3 

QlY. 
6 
4 
4 
18 
8 
2 
5 
2 
4 
19 

32 
2 

2 CROSSARM CONSTRUCTION, THREE PHASE, 

NEUTRAL ON DOUBLE ARMS, 25KV 
II ELECIHICITIS 

1 11 / 10/05 CADO GRAPHICS 

0 2/1/05 CADO GRAPHICS 

REVISED BY 

OST 

OST 

APPR. 

SCALE 
1;2·=1·-0· 

DWG. 

VC9EC 



3 
2 

,__ ___ 37•---~---19• ----------+-- 56" ______ _, 4• 

NEUTRAL 

0 

0 

PLAN VIEW 

PWC DESIGN LIMITS 
CONDUCTOR MAX ANGLE 

336 ACSR 

NOTES: FRONT VIEW /1477 MC 

1. GROUNDS ARE TO STOP AT THE NEUTRAL POSITION EXCEPT TO RISE TO A LIGHTNING ARRESTER 
OR TRANSFORMER. 

2. ALL GUYS MUST CONTAIN A GUY STRAIN INSULATOR SUFFICIENT TO PROVIDE TWO FEET OF AIR 
CLEARANCE. 

22· 
20· 

3. THE NEUTRAL INSULATOR IS TO BE DIFFERENT IN SIZE OR COLOR FROM THE PRIMARY INSULATORS 
PER NESC 220828. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

ITEM PWC STOCK PWC MATERIAL DESCRIPTION 
1 1160065 INSULATOR, PIN-TYPE, ANSI 55-6, 25 KV 
2 1325155 BOLT, MACHINE, 1 2" X 6", w NUT 
3 1325735 WASHER, SPLIT RING, LOCK, 1 2• 
4 1325765 WASHER, SQUARE, FLAT, 5 8" 
5 1100562 PIN, CROSSARM, SADDLE, 1" X 6" 
6 1100015 CROSSARM, 1 o• WOOD 
7 1325025 BOLT, DOUBLE ARMING, 5 8" X 20", w NUT 

6/2020 WRWJ PWCOST 8 1100532 BRACE, CROSSARM, WOOD, 60" X 30" 
09/21/09 JLL PWCOST 9 1325715 WASHER, FLAT, ROUND, 1 2" 

1 08/12/08 JLL PWCOST 10 1325740 WASHER, LOCK, 5 8" 

0 12/ 3/07 JLL PWCOST 11 1325020 BOLT, DOUBLE ARMING, 5 8" X 18", w NUT 
12 1075245 CONNECTOR, PRL. GRVE. COMP., 1 7 

REVISED BY APPR 13 1065010 TIE WIRE 4 SOLID ALUMINUM 
PWC REVISIONS 14 1160040 INSULATOR PIN-TYPE ANSI 55-4 1• GROOVE 15 KV 

3 

QTY. 
6 
4 
4 
18 
8 
2 
5 
2 
4 
19 
1 
1 

32 
2 

2 CROSSARM CONSTRUCTION II ELECIHICITIS 
THREE PHASE, LARGE CONDUCTOR 1 11 / 10/05 CADO GRAPHICS OST 

0 2/1/05 CADO GRAPHICS OST NEUTRAL ON DOUBLE ARMS, 25KV SCALE DWG. 

REVISED BY APPR. 1;2·=1·-0· VC9SEC 



A B C A B C 
~ - ~ \a = 6 A 

) 
A ;,::: 

~ © ~ \ii (o \ii 

i - ( ► ◄--

~ 
I ! ! I I ! / ! I 

ff! 'l I " ca B 
J r,--_"\ II 'j 

B . 11 .A I . . \.-::7.L 11 .A I . 
I ii DJl I @n 

" 

► ... 

c6l C ~ ~ C 
- - ~ 

PLAN VIEW PLAN VIEW 

A B C A B C 
~ 

~ -
A A rcs, ,=o= ="'' :::: 

© \o © 

lb. ~ -~ .... •· 

~ ~ 
/ 

I I 
re. II . 

I' !1 . 
B 

t-..11 

NI )) i i l( lB I " i ii i @lJ 

:::: 

\ === 

B ,.. 
◄--

:::: ~ C 
rcs, ,=o=== B C --i,;;; ""' ~ ~ 

PLAN VIEW PLAN VIEW 

NOTES: 

1. IF ONLY TWO PHASES ARE INSTALLED, PLACE CONDUCTORS IN END PIN POSITIONS. 

2. SELECT APPROPRIATE INSULATORS FOR SYSTEM VOLTAGE USED AND CRITICAL FLASHOVER DESIRED. 

PWC CONSTRUCTION NOTES: 
1. SPECIFY ARMOR RODS, AND/OR CONDUCTOR DEADEND ATTACHMENTS SEPERATELY AS REQUIRED. 

l~ 

1 6/ 2020 WRWJ PWCOST 

0 12/ 3/ 07 Jll PWCOST 

REVISED BY APPR 

PWC REVISIONS 

3 

2 THREE-PHASE II ELECIHICITIS 
1 CORNER CONSTRUCTION DISTRIBUTION. 
0 1/ 18/ 07 CADO GfW>HICS OST 25KV SCALE I DWG. 

REVISED BY APPR. 1;2·=1·-0· V6-1EC 



S . S . L 

s 

600 AMP 
BYPASS SWITCH 

I 

I 

I 

I 

I I 

0 
Ul 

I I i----'-
RECLOSER 

CONTROL 
BOX 

1 

I 

I 

r 

I 

I I 

FLEX 
CONDUIT 

~ 

FRONT VIEW 

*NOTE; 
ALL CABLE, FIBER, CONTROL, POWER 
SHALL BE ENCLOSED IN EITHER 
U.GUARD OR LIQUID TIGHT CONDUIT. 

CONTROL CABINET TO BE BONDED TO 
POLE GROUND. 

PROFILE 

PUBLIC WORKS COMMISSION 
~ OF lHE aTY OF FAYETIEVIUE , N.C. 

~ 
GOO AMP ELECTRONIC 

CONTROLLED THREE-PHASE 
RECLOSER WITH GOO AMP 

HORIZONTAL BYPASS SWITCH 

STRUCTURE ID. 

RECGOOHS 
RECGOOHF 

VRECGOOHS 
~D_R_AWN __ BY_:_s_.c_o_LL_1N_s _~s_c_AL_E:_No_N_E ___________________ ----11 VRECGOOHF 

CHECKED BY: APPROVED BY: REVISION DATE : SEPTEMBER 9, 2022 



MATERIAL LIST 

STRUCTURE ID. ASSEMBLY STOCK NO. DESCRIPTION QUANTITY ID. 

REC600HS 

SWVCR600E15 RECLOSER, 600A, 15 KV, 3-PHASE, TRIPLE/SINGLE, ELECTRONIC 1 

1-280-461 RECLOSER, 600A, 15 KV, 3-PHASE, TRIPLE/SINGLE 1 

CTRLRECVPR RELAY, ELECTRONIC, DISTRIBUTION FEEDER PROTECTION, SEL-651 R 1 

1-045-566 RELAY, PARTIAL DISTRIBUTION FEEDER PROTECTION 1 

SW6RECBYPASS SWITCH, 25 KV, 600 AMP, RECLOSER BYPASS ON FIBERGLASS ARM 1 

1-280-160 SWITCH, RECLOSER BYPASS, CROSSARM 1 

LA10SW LIGHTNING ARRESTERS, 10 KW, SWITCH POLE 3 

1-170-010 ARRESTER, 10 KV, HEAVY-DUTY 2 

UGARD2 U-GARD, 2", 10' 3 

1-070-032 U-GARD, 2", 10' LENGTH, TRUCK STOCK 1 

GND210S GROUNDING, DRIVEN, 2-10' RODS 1 

1-255-070 ROD, GROUND, 5/8" X 10' CU-CLAD, TRUCK STOCK 2 

UAXLP500 U/G ALUMINUM POLYETHYLENE INSULATED, 500 60' 

1-065-540 CONDUCTOR, 500 MCM, AL XLP 600V 1' 

FLEX CONDUIT 2" FLEXIBLE CONDUIT FOR CONTROL 10' 

1-070-615 CONDUIT, 2" LIQUID TIGHT, FLEXIBLE (LFMC) 1' 

NOTES: 
CONDUCTOR ATTACHMENTS, DOWN GUYS, AND 

ANCHORS MUST BE SPECIFIED SEP ARA TEL Y. 

PUBLIC WORKS COMMISSION I 5 KV- GOO AMP ELECTRONIC STRUCTURE ID. 

~ OF lHE aTY OF FAYETTEVILLE , N.C. 

CONTROLLED THREE-PHASE 
~ RECLOSER WITH GOO AMP RECGOOHS 

HORIZONTAL BYPASS SWITCH 
DRAWN BY: 5. COLLINS SCALE: NONE 

CHECKED BY: APPROVED BY: REVISION DATE : SEPTEMBER 9, 2022 



MATERIAL LIST 

STRUCTURE ID. ASSEMBLY STOCK NO. DESCRIPTION QUANTITY ID. 

REC600HF 

SWVCR600E15 RECLOSER, 600A, 15 KV, 3-PHASE, TRIPLE/SINGLE, ELECTRONIC 1 

1-280-461 RECLOSER, 600A, 15 KV, 3-PHASE, TRIPLE/SINGLE 1 

CTRLRECFLISR RELAY, RELAY, DISTRIBUTION FEEDER AUTOMATION CONTROLLER, SEIM ENS, FLISR 1 

1-045-565 RELAY, DISTRIBUTION FEEDER, AUTOMATION CONTROLLER 1 

SW6RECBYPASS SWITCH, 25 KV, 600 AMP, RECLOSER BYPASS ON FIBERGLASS ARM 1 

1-280-160 SWITCH, RECLOSER BYPASS, CROSSARM 1 

LA10SW LIGHTNING ARRESTERS, 10 KW, SWITCH POLE 3 

1-170-010 ARRESTER, 10 KV, HEAVY-DUTY 2 

UGARD2 U-GARD, 2", 10' 3 

1-070-032 U-GARD, 2", 10' LENGTH, TRUCK STOCK 1 

GND210S GROUNDING, DRIVEN, 2-10' RODS 1 

1-255-070 ROD, GROUND, 5/8" X 10' CU-CLAD, TRUCK STOCK 2 

UAXLP500 U/G ALUMINUM POLYETHYLENE INSULATED, 500 60' 

1-065-540 CONDUCTOR, 500 MCM, AL XLP 600V 1' 

FLEX CONDUIT 2" FLEXIBLE CONDUIT FOR CONTROL 10' 

1-070-615 CONDUIT, 2" LIQUID TIGHT, FLEXIBLE (LFMC) 1' 

NOTES: 
CONDUCTOR ATTACHMENTS, DOWN GUYS, AND 

ANCHORS MUST BE SPECIFIED SEP ARA TEL Y. 

PUBLIC WORKS COMMISSION I 5 KV- GOO AMP ELECTRONIC STRUCTURE ID. 

~ OF lHE aTY OF FAYETIEVIUE , N.C. 

(FLISR) CONTROL THREE-PHASE 
~ RECLOSER WITH GOO AMP RECGOOHF 

HORIZONTAL BYPASS SWITCH 
DRAWN BY: 5. COLLINS SCALE: NONE 

CHECKED BY: APPROVED BY: REVISION DATE : SEPTEMBER 9, 2022 



MATERIAL LIST 

STRUCTURE ID. ASSEMBLY STOCK NO. DESCRIPTION QUANTITY ID. 

VREC600HS 

SWVCR600E RECLOSER, 600A, 25 KV, 3-PHASE, TRIPLE/SINGLE, ELECTRONIC 1 

1-280-460 RECLOSER, 600A, 25 KV, 3-PHASE, TRIPLE/SINGLE 1 

CTRLRECVPR RELAY, ELECTRONIC, DISTRIBUTION FEEDER PROTECTION, SEL-651 R 1 

1-045-566 RELAY, PARTIAL DISTRIBUTION FEEDER PROTECTION 1 

SW6RECBYPASS SWITCH, 25 KV, 600 AMP, RECLOSER BYPASS ON FIBERGLASS ARM 1 

1-280-160 SWITCH, RECLOSER BYPASS, CROSSARM 1 

LA21SW LIGHTNING ARRESTERS, 21 KW, SWITCH POLE 3 

1-170-030 ARRESTER, 21 KV, HEAVY-DUTY 2 

UGARD2 U-GARD, 2", 10' 3 

1-070-032 U-GARD, 2", 10' LENGTH, TRUCK STOCK 1 

GND210S GROUNDING, DRIVEN, 2-10' RODS 1 

1-255-070 ROD, GROUND, 5/8" X 10' CU-CLAD, TRUCK STOCK 2 

UAXLP500 U/G ALUMINUM POLYETHYLENE INSULATED, 500 60' 

1-065-540 CONDUCTOR, 500 MCM, AL XLP 600V 1' 

FLEX CONDUIT 2" FLEXIBLE CONDUIT FOR CONTROL 10' 

1-070-615 CONDUIT, 2" LIQUID TIGHT, FLEXIBLE (LFMC) 1' 

NOTES: 
CONDUCTOR ATTACHMENTS, DOWN GUYS, AND 

ANCHORS MUST BE SPECIFIED SEP ARA TEL Y. 

PUBLIC WORKS COMMISSION 25 KV- GOO AMP ELECTRONIC STRUCTURE ID. 

~ OF lHE aTY OF FAYETTEVILLE , N.C. 

CONTROLLED THREE-PHASE 
~ RECLOSER WITH GOO AMP VRECGOOHS 

HORIZONTAL BYPASS SWITCH 
DRAWN BY: 5. COLLINS SCALE: NONE 

CHECKED BY: APPROVED BY: REVISION DATE : SEPTEMBER 9, 2022 



MATERIAL LIST 

STRUCTURE ID. ASSEMBLY STOCK NO. DESCRIPTION QUANTITY ID. 

VREC600HF 

SWVCR600E RECLOSER, 600A, 25 KV, 3-PHASE, TRIPLE/SINGLE, ELECTRONIC 1 

1-280-460 RECLOSER, 600A, 25 KV, 3-PHASE, TRIPLE/SINGLE 1 

CTRLRECFLISR RELAY, DISTRIBUTION FEEDER AUTOMATION CONTROLLER, SEIMENS, FLISR 1 

1-045-565 RELAY, DISTRIBUTION FEEDER, AUTOMATION CONTROLLER 1 

SW6RECBYPASS SWITCH, 25 KV, 600 AMP, RECLOSER BYPASS ON FIBERGLASS ARM 1 

1-280-160 SWITCH, RECLOSER BYPASS, CROSSARM 1 

LA21SW LIGHTNING ARRESTERS, 21 KW, SWITCH POLE 3 

1-170-030 ARRESTER, 21 KV, HEAVY-DUTY 2 

UGARD2 U-GARD, 2", 10' 3 

1-070-032 U-GARD, 2", 10' LENGTH, TRUCK STOCK 1 

GND210S GROUNDING, DRIVEN, 2-10' RODS 1 

1-255-070 ROD, GROUND, 5/8" X 10' CU-CLAD, TRUCK STOCK 2 

UAXLP500 U/G ALUMINUM POLYETHYLENE INSULATED, 500 60' 

1-065-540 CONDUCTOR, 500 MCM, AL XLP 600V 1' 

FLEX CONDUIT 2" FLEXIBLE CONDUIT FOR CONTROL 10' 

1-070-615 CONDUIT, 2" LIQUID TIGHT, FLEXIBLE (LFMC) 1' 

NOTES: 
CONDUCTOR ATTACHMENTS, DOWN GUYS, AND 

ANCHORS MUST BE SPECIFIED SEP ARA TEL Y. 

PUBLIC WORKS COMMISSION 25 KV- GOO AMP ELECTRONIC STRUCTURE ID. 

~ OF lHE aTY OF FAYETIEVIUE , N.C. 

(FLISR) CONTROLLED THREE-PHASE 
~ RECLOSER WITH GOO AMP VRECGOOHF 

HORIZONTAL BYPASS SWITCH 
DRAWN BY: 5. COLLINS SCALE: NONE 

CHECKED BY: APPROVED BY: REVISION DATE : SEPTEMBER 9, 2022 


	Single Phase Structures
	Two Phase Structures
	Three Phase Structures



